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The bond dissociation energies of X5, Y, and XY
are in the ratio of 1: 0-5: 1. AH for the formation
of XY is — 200 kJ mol™’. The bond dissociation
energy of X, will be

(1) 400 kJ mol !
(2) 200 kJ mol !
(3) 800 kJ mol !
(4) 100 kJ mol!

When initial concentration of the reactant is
doubled, the half-life period of a zero order
reaction

(1) remains unchanged
(2) 1is halved

(3) istripled

(4) is doubled

The correction factor ‘a’ to the ideal gas equation
corresponds to

(1) forces of attraction between the gas
molecules

(2) density of the gas molecules

(3) electric field present between the gas
molecules

(4) volume of the gas molecules

Which one of the following conditions will favour
maximum formation of the product in the
reaction,

Ay(g) +By(g) = Xo(g) AH=-XkJ?
(1) High temperature and low pressure
(2) Low temperature and high pressure
(3) High temperature and high pressure
(4) Low temperature and low pressure

For the redox reaction
MnOj +Cy02~ + H' —— Mn*" + CO, + H,0

the correct coefficients of the reactants for the
balanced equation are

_ 2_ +
MnO, C,0}~ H

1) 5 16 2
(2) 16 5 2
3 2 16 5
4) 2 5 16

Xy, Yo R0 XY 7i¢ w6 woi Qodnend 3300
gomn 11 0°5 @1 1 ex0eeends, XY & St i)
AH 3 — 200 kJ mol™! =33 X, & w05 odeexd
BE03

(1) 400 kJ mol ™

(2) 200 kJ mol ™!

(3) 800 kJ mol™*

(4) 100 kJ mol™*

B80Ene T,C0ws MTIah) Qe ReeAES, ARFD
BNFT B8E0300D SRFOPTNFS (UFF ©[Q)

(1) WBRIHB SROTIT)ED

(2)  e@pFoRORT

(3)  Ronddm) sromm

(4) QRO

IO ©ROT  AWITHTALH  IRPR o8 ‘@
ZoTPOERNTIRI

(1) Q0 2601 IBONT STRFTHBOL WONED
(2) = @Y FomZodd
(3) @R BrINY SRS VBT FER)
(4)  ©Q© @0nd M3
3INT 0Bz 3, GOID FRLSTEI BROETTETY, NOF Fweass
SV FOIRTINELD ITIBROTNMITYTD
Ay(g) +By(@) =X,(g) AH=-XkJ?
(1) rlomg 2w &3 3R 0.3R
(2) 3R 2B =P FF .33
(8) nox zom =B BT wI@
(4) 3R B 3 AW wIR
3RL300% ST, (VSR €9 LTBHF£9) 303008
MnOj +Cy07” + H'—— Mn®* + CO, + H,0
FODOIRROT  AEITTHCD T,88,0530%08NRY
ROFOBN

— 2 +
MnO; C,02- H

1 5 16

(2) 16 5 2
3) 2 16

4) 2 5 16
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6. In the reaction 6. B3 F0EBTTYED &)Cﬁ%@e FO0F030

OH O™ Na* OH O~Na*
@ + CHClg + NaOH —— @ CHO @ + CHCly + NaOH ——> @ CHO
the electrophile involved is (1) gEpsdemuers (CCly)

(1) dichlorocarbene (:CCl,) (2) GERTANGFS 5ER08RT (gHCIQ)
o
(2) dichloromethyl cation (CHOI 2) (8)  gRasragy so s (CHCL)

@
. .2 (4)  DFrer sywecdna” (CHO )
(3)  dichloromethyl anion (CHCI,)

7. ©OFZENH  sedpeT BT SSRGS BgmoN
WRFOE SRRl BomIEmE  ©roTed
TRODTTR BRR FUPFIPT SRy TuF BoH0I0B
WOTDB), TPOHTI 593D

@
(4) formyl cation (CHO )

7.  Carboxylic acids have higher boiling points than
aldehydes, ketones and even alcohols of
comparable molecular mass. It is due to their

(1) o¥ 298 H 200537eb e00enomtd

(1) formation of intermolecular H-bonding

(2) formation of intramolecular H-bonding (2) 023698 H wogned svotmrdmd
(3) more extensive association of carboxylic

acid via van der Waals force of attraction (3) T RETT ST SFRFTBOD WONOT TUF DT
(4) formation of carboxylate ion SN0 %235 QRO NIORINFONORYTI

(4)  FRFEZers BOIRT® YUBIOIRMIR)T
8. Compound A, CgH,,0O, is found to react with

NaOlI (produced by reacting Y with NaOH) and | g, CgH g0 wow A Rootngsy (Y =08 NaOH) o3
yields a yellow precipitate with characteristic 303m0338 NaOl =eodi  =oen =90 L 3

smell.
- - -
A and Y are respectively @é%m,ﬁojw%i @dméd@ommm@m.
A T2 Y nsh 3owen
CH, CHj

() CHg G OH and I, (1) CH, G OH =3 I,
@ Hye—{ ) CH,- OHand1, @ Hee—{ - CH,-OH =% I,
@ ¢ ) CH - CHy and I, @ ¢ ) CH - CHy 2 1,

OH OH

(4) @— CH, - CH, — OH and I, @ @— CH, - CH,— OH 33 I,
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9. The correct difference between first- and|9. FIFXD FodRIAF =B Qe $OIRT|AFT IN0EFTeoN
second-order reactions is that SRo0R FocINT ZTAD
(1) the rate of a first-order reaction does °e
depend on reactant concentrations; the rate (1) IF= FSRINES Py §OSNTITING FTINT
of a second-order reaction does not depend el RN 0D $0IRIAET TR
on reactant concentrations B ~ ‘
. $,0309F908ME FPTS0L W0 WRLoWITONG,
(2) the rate of a first-order reaction does not
depend on reactant concentrations; the rate (2) BIPR R INFT 0 §OIRTOTTING e
of a second-order reaction does depend on sBooRZmNy  DIod  RSRFE G0R)
tant trati c oL ‘
reactant concentrations $0IRE08RY TTToD et SHOWITNT
(3) a first-order reaction can be catalyzed; a
second-order reaction cannot be catalyzed (8) TR ZoNINFT  FOODEY $0INTFFBHOT
(4) the half-life of a first-order reaction does not @oﬂaoﬁadg{ TFFS DREBUIOTY; B@eowd
depend on [A]l); the halflife of a 3RS 803009 8 CARRFFER0T
second-order reaction does depend on [A] 3 0RO SRS
S v
10. Consider the change in oxidation state of (4) TG oIRBAFT @gr wsmodn [Al) & Boed
Bromine corresponding to different emf values as UBOOWINY; QIO JOIRFNAFT T
shown in the diagram below : eBRt0 [Aly 306 BBOBNG
_ 182V _ 15V 10.  WR0T'S GVZRFED ASCDRROT B3R 23T e3ed emf
BrO, ——> BrO; —> HBrO TR
e e i SPORER FoTOIRN 5 FI1 SReOATS
— - 182V - 15V
Br «<——— B
" T10652V U2 1595V BrO, —> BrOz —— HBrO
Then the species undergoing disproportionation Br_ Br
is 10652V 2 1595V
TMET NIRRT 9730 03T D3 IR
(1) HBrO Q.3 ‘ 2
(2) BrO; (1) HBrO
(3) Br, (2) BrOj
3) B
4) BrO; ®) Bry
(4) BrO;
11. Among CaH,, BeH,y, BaH,, the order of ionic|qq, CaH,, BeH,, BaH, n¢9 ©oinds mos 300ins
character is 229
(1) BaH, < BeH, < CaH, (J1) BafL. < BeEL. < Cal
a 2 < be 2 < Ca 2
(2) BeH, < CaH, < BaH, (2) BeH, < CaH, < BaH,
(3) BeH, < BaH, < CaH, (3) BeH, < BaH, < CaH,
(4) CaH, < BeH, < BaH, (4) CaH, < BeH, < BaH,
12. In which case is the number of molecules of water | 12.  39NS cIRFTIQY, 10T Fos3,0% V0T WeRT, oL
maximum ? (1) 107 Smeergam, Dedd
(1) 10_3 mol of water (2) 18 mL 3_)@\@ @@dD
2) 18 mL of v
(2) 18 mL of water (3) 1atm =0y 273 K 3¢, evowmnd 0-00224 L 3
(3) 0-00224 L of water vapours at 1 atm and e
273 K Q003 3
(4) 0-18 g of water (4) 018 g =), dedd
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13.

14.

15.

16.

17.

The difference between amylose and amylopectin

is

(1) Amylose is made up of glucose and
galactose

(2) Amylopectin have 1—4 o-linkage and
1 — 6 o-linkage

(3) Amylopectin have 1 — 4 o-linkage and
1 — 6 B-linkage

(4) Amylose have 1—54 o-linkage and

1 — 6 B-linkage

Nitration of aniline in strong acidic medium also

gives m-nitroaniline because

(1) In acidic (strong) medium aniline is present
as anilinium ion.

(2) In spite of substituents nitro group always
goes to only m-position.

(3) In absence of substituents nitro group
always goes to m-position.

(4) In electrophilic substitution
amino group is meta directive.

reactions

Which of the following oxides is most acidic in
nature ?

(1) CaO
2 MgO
(3) BaO
(4) BeO

A mixture of 2-3 g formic acid and 4-5 g oxalic
acid is treated with conc. HySO4. The evolved
gaseous mixture is passed through KOH pellets.
Weight (in g) of the remaining product at STP
will be

1) 44
(2) 14
(3) 28
4) 30

Regarding cross-linked or network polymers,

which of the following statements is incorrect ?

(1) They contain strong covalent bonds in their
polymer chains.

(2) They contain covalent bonds
various linear polymer chains.

between

(3) Examples are bakelite and melamine.

(4) They are formed from bi- and tri-functional
monomers.

13.

14.

15.

16.

17.

SRR 0B W), URETBET Y FBRONT YRR

(1) eRdee, n@new =By ReERENvn
B03RTINT

(2) eRNERETRD 1 - 4 a-wog B 1 - 6
oc-uozjda%a&rao@cﬁ

(3) @Qeﬁma’iﬁﬁ% 1 > 4 a2z 1 - 6
B-wotﬁdo&lmo@d

(4) wEemnd 1 - 4 o-wogd &R 1 — 6
B-wotﬁdo&lmo@d

BRO &R, BRFPTODY, BROTR) Fee30e 1evamen

Bt -F R BROT BRBIRI 5T

1) Iwo &R INGITY, ROT, SIAVCDTF®
03T ATIT.

(2) =B3RBT AN, FeiRe RO0F) cdReenerR
ot -TTE ez,

(3) ©deg, noPYnd TSN, Fupe RoP

SRmRReR Boew AR ST,
(4) 90 AWTRSZ BEWTI  FEODNYY,

essSaRme R0 Bt DerSTTNG.
3RLTOR wE WYY, CCRTT ©Z,08 509601 NOLITIIY

TR0DT

(1) CaO
(2) MgO
(3) BaO
(4) BeO

2:3 g DT @@ 08 45 g wndT S®p
0BT, B nogzemtieednt (HySO4) Feormen,
WBNRBERME @0 WwFeensy KOH wgnd &oed
0008 NG STP o0&, Q03T GEIT BR8) Mo BY,

(1) 44
(2) 14
3) 28
(4) 30

@8 ERCBEROD WHHFN WG PUTRT WHEINY
B20T0T WVOOT TeFINTE CIRT)TO FOAXRNE),

(1) wxos (m@docs) JBeING D, 38D
#%mﬂwoqﬁﬁ%ﬁ@(mo@d.

(2) RYNSYOD ARG Teheod BT ITEING TR
D F003RCHT LOPNYR.

3) mss@eg@s@, BICOAT NG LVTOBTHBNTONGS.
(4)  aRRIR, Q FB FZeaD §0IRSeL MIOLT 2T
(mmmv) NP0 30330T.
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18.

19.

20.

21.

Magnesium reacts with an element (X) to form an
ionic compound. If the ground state electronic
configuration of (X) is 1s? 252 2p3, the simplest
formula for this compound is

(1) MggX,
(2) MgyXy
(3) Mg,X
(4) MgX,

Iron exhibits bee structure at room temperature.
Above 900°C, it transforms to fcc structure. The
ratio of density of iron at room temperature to
that at 900°C (assuming molar mass and atomic
radii of iron remains constant with temperature)
is

(1)

(2)

Sl 1=

&

3

55

4)

2

Which one is a wrong statement ?

(1) The value of m for dzz is zero.

(2) Total orbital angular momentum of electron
in ‘s’ orbital is equal to zero.

(3) The electronic configuration of N atom is
162 252 2P} 2py 2p)

tol [ty (ALY

(4) An orbital is designated by three quantum
numbers while an electron in an atom is
designated by four quantum numbers.

Consider the following species :

CN*, CN~, NO and CN

Which one of these will have the highest bond
order ?

(1) CN
(2) NO

(3) CN*
(4) CN~

18.

19.

20.

21.

dafl%oﬁao, X) 2020 BRI WWEFR  LI03JF
xoom§d?>gL e, (X) 3 ?ﬁﬁ.@%\% m?a@a@ RN
1s? 252 2p? =53 Boc3083 IS BRI

(1) MggX,
(2) MgyXs
(3) Mg 92X
(4) MgX,

By BRemoD TITE, bee 5903 FeoRy TeFOIRY,
EReoR. 900°C Nog FuE I, fee Bood
3008 TBI0INN TRTWOZTRATITT. el T =02
900°C 3 SoBAYY, 3T FOTIOD WRTTH) (BT
BReeRT® 00O WBY TJOBMED FRND oIS e
P&zjmﬁd Q0TI mmﬁfdeﬁo)

(D

(2)

S

6))

5

2

&

4) —=
2

FINTINYE BT 2,000 FePFosD

4

(1) d,2 mhm 3 =P ARZ0INPNG.

(2) w0, 38F deedeod wReny om0 HETRR §
380, AR BN,

(3) N ToB»eo0 SNLo DI

162 252 2P} 2py 2p,
MO L
(4)  wom  FFER  WoRD  TPWRT  ZoBneos

ARWAOWT  WEDDTYIB Lo I T
FOURT BoNP0n BRETORITTO.
QWNSE,
CN*,CN7, NO =53, CN
CIRETE T LorBR (WoT Wog) AT

(1) CN
(20 NO

(3) CN*
(4) CN~
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22,

23.

24.

25.

Following solutions were prepared by mixing
different volumes of NaOH and HCI of different
concentrations :

a. 60 mL M HCI + 40 mL E NaOH
10 10

b. 55 mL M HCI + 45 mLL E NaOH
10 10

c. 75 mL % HCI + 25 mLL % NaOH

d. 100 mL M HCI + 100 mL M NaOH
10 10

pH of which one of them will be equal to 1 ?
(D
(2)
(3)
4)

The solubility of BaSO, in water is
242x 107 gL' at 298 K. The value of its
solubility product (Ksp) will be

» o T 6

(Given molar mass of BaSO, =233 g mol ™)

(1) 1:08x 107° mol® L™

(2 1:08x 107 mol® L2

(3) 108 x 107 mol® L2

4 108x 1072 mol® L2

On which of the following properties does the
coagulating power of an ion depend ?

(1) The sign of charge on the ion alone

(2) The magnitude of the charge on the ion
alone

(3) Both magnitude and sign of the charge on
the ion

(4) Size of the ion alone

Given van der Waals constant for NHs, H,, Oy
and CO, are respectively 4:17, 0-244, 1-:36 and
3-59, which one of the following gases is most
easily liquefied ?

(1) COqy

(2) NHj4

(3) Oy

(4) H,

22.

23.

24.

25.

B8NS @dsamfag DG PITORRD (MF) NP, o=
2O TN NaOH 03 HCIL ﬁeﬁo“p% WD BRB
3O3ROTPNT

a. 60 mL E HCI + 40 mL M NaOH
10 10

b. 55mL M HCI + 45 mLL M NaOH
10 10

c. 75 mL % HCI + 25 mL % NaOH

d. 100 mL M HCI + 100 mL M NaOH
10 10

B0eOZYNGQ, 03T pH 200538 Bedomend

1 ¢

(2 b

3 d

(4) a

298 K 3¢ BaSO, = adedo3n 242 x 1073 gLt
=38 0eIT ooy (Kyp) B 3P

(T08 : wea3¥e8 BaSO, = 233 g mol ')

(1) 108 x 10" mol® L2
) 108 x 10719 mo1? 1,2
(3) 108 x 10" mol? 1,2

(4) 108x 102 mol® L2
SOIRAT ROBRLRN Jgodd FINT 0Ie= Moed 5w
RO BBV

(1) =osndE Boeds 8563 s =0T

(2)  ©cIRdS Boeds $BeTT TINED BRE,

(3) 2R Boeds 1¥E BB BHIT Fnee TR
(4)  ©0IRAS ME, BNE,
FINT QNS
T0eFORWBOTINT
(Beo3nish 1 T BT et I AobTosTo NH,,
H,, 0, 3y CO, rert 3Romon 417, 0-244, 1-36
3583 3:59 9%)

(L CO,

(2) NH;j

3) O

4) H,

CIRRTR), 8 AcemN
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26.

27.

28.

29.

30.

The geometry and magnetic behaviour of the
complex [Ni(CO),] are

(1) tetrahedral geometry and paramagnetic

(2) square planar geometry and diamagnetic
(3) square planar geometry and paramagnetic

(4) tetrahedral geometry and diamagnetic
Iron carbonyl, Fe(CO)j is

(1) dinuclear
(2) tetranuclear
(3) trinuclear

(4) mononuclear

Match the metal ions given in Column I with the
spin magnetic moments of the ions given in

Column II and assign the correct code :
Column I Column I1

a. Co%* 1. J8 B.M.

b. Cr¥t ii. /35 B.M.

c. Fe* iii. /3 B.M.

d. Ni** iv. /24 BM.

v. 15 BM.

a b c d

(1) i v i ii

(2) iv v i i

3) iv i i iii

4) i i iii iv

The type of isomerism shown by the complex
[CoCly(en)s] is

(1) Linkage isomerism

(2) Geometrical isomerism

(3) Ionization isomerism

(4) Coordination isomerism

Which one of the following ions exhibits

d-d transition and paramagnetism as well ?
(1) MnO%~

2 Cro2”

(3) MnO,

(4)  Cry02”

26.

27.

28.

29.

30.

85 Foserorm  [Ni(CO)yl w08 303)  Fo08eod

eV oved

(1) A0w3R0R SERes TIFTLRR0S 2
TWTOT08e0%

(2)  B[AF TR 3,008 F0BY BOIRTI0EON

(3)  @nF IR 233,008 0BY TWTFI0ZEO

(4)  RROwBoR SEReT TTFT (23BOT0FDe 208
3030 BOSRT03e0D

350 5tderde” Fe(CO)j5 eomd

1 aws

(2)  =or Yus
(3) & us

(4) o8 Yyws

oo I 3¢ dpemt waindondsy deawmy, o 11 3
WRNY BOWROEd T20Se0d WRBYTOINRY, BRLT FoowmA

BT ﬁ@ed@g{@oﬂaﬁr@@ :
00l ool
a. Co3+ 1. \/g B.M.
b. Cr’t ii. /35 B.M.
c. Fe3* iii. /3 B.M.
d. Ni%* iv. /24 B.M.
v. 15 B.M.
a b c d
1) i v i i
Q) iv v i i
3) iv i i iii
4 i i iii iv
Roserorsy  [CoClylen),] 88 2F3  Ranonganay

BTHFRQTO

(1) 3Beokd I=Nons

(2)  0gecd RPN
(8) @033 ZRPONS
(4) BR[O FRPonS

FFNT 03093 203N TTF0SC0DNT W3y d-d ToB=oed

S0 BRI
(1) MnO>"
9_
@ 02
(3) MnO,
2—
(4) CI‘207
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31.

32.

33.

34.

The compound A on treatment with Na gives B,
and with PCl; gives C. B and C react together to
give diethyl ether. A, B and C are in the order

(1) C,H5OH, C,H;ONa, C,H;Cl
(2) C,HsOH, CyHg, CoH,Cl
(3) CyHsCl, CyHg, C,H;OH
(4) C,HsOH, C,H,Cl, C,H;ONa

The compound C;Hg undergoes the following

reactions :

3 Clz/A BI'z/Fe Zn / HC1
A B

C-,Hg C
The product ‘C’ is

(1) p-bromotoluene

(2) m-bromotoluene

(83) 3-bromo-2,4,6-trichlorotoluene

(4) o-bromotoluene
(A)
substitution to form an alkyl bromide which by

Wurtz
hydrocarbon containing less than four carbon

Hydrocarbon reacts with bromine by

reaction is converted to gaseous

atoms. (A) is

(1) CH4

(2) CH=CH

(3) CH3;-CHj4

(4) CH,;=CH,

Which oxide of nitrogen is mot a common

pollutant introduced into the atmosphere both
due to natural and human activity ?

() NO
(2) N,Oj
3) N,0
4 NO,

31.

32.

33.

34.

A Q0w Fooogy AeeRoddo Na drodnt @8Fa B @02y
PCl; Zpodrt S8ra C o) 3eE0gds. B o=y C i
TORT BEFR FAFe' Q@O 3RS, FWowen A, B
33 C Asd

(1) C,H;OH, C,H;ONa, CoH;Cl
(2) C,H5OH, CyHg, CoHsCl
(3) C,H,Cl, CyHg, CoH;0H
(4) C,H5OH, C,H,Cl, C,H;ONa

C7Hg Ro0d085) Fo0003 2203865 WHEeprRaEd
3ClL,/A Br,/Fe 7n/HCI
20 A 22 g Zn/HCL

7Hg
99, PUBLCIRTOT C’ c

(1)  p-wBnebee DORT

(2) m-Bpekne DoRd

(3)  3-wWpeRne-2,4,6-3¢0R WORE

(4)  o-WpcBRe RORT

2,000 FRRHWFT (A), WS wed widd &
3oDbODY, 8¢ & WRFHE SRR AT RS

803000, T, (4) TWFTNOZ RO BT 2,030 VAW
FRERCFWF D WRINBERRRIT). TGS (A) 03

(1) CH,
(2) CH=CH

(3) CH;- CHj
(4) CH,=CH,

RLTDTIN0IR W02 BRI 13edBEIBON0T wTTeT
Fedbm FHnewy o« @mTNYY R IHwN
BROFFTFRY?

(1) NO
(2) N,0;
3) N,O
4 NO,
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35. Identify the major products P, Q and R in the
following sequence of reactions :
Anhydrous
AlCly
@ + CHzCH,CH,Cl ———3—»
i 0,
P Q +R
(i1) H3O*/A
P Q R
OH
CH(CHjy),
@} @ CH3 - CO-CH;s
CH,CH,CHg4 CHO
CH(CHy), OH
(3) @ @ CH3CH(OH)CHg
CH,CH,CHg CHO COOH
NelNeNe
36. Which of the following compounds can form a
zwitterion ?
(1) Glycine
(2)  Aniline

Benzoic acid

3
(4)

Acetanilide

35. @003 IR0 AUSHY, (Ieesode)  FoD

Wsﬁﬁ%d P, Q =53 R s.l (rbdo:%%) BorEHROWD

AES
AICl,
@ + CHyCH,CH,Cl ———2 >
(i) 0,
—2 ___5Q+R
(i) Hz0"/A
P Q R
OH
CH(CH,),
1) @ | CHz— 0O - CH,
CH,CH,CH; CHO

O

@ CH,CH, - OH
@ CH5CH(OH)CH,

CH(CH,),

NS

CH,CH,CH; CHO  COOH
@ @ , @ , @
36. 3 T0oOHIT Foo0FRYY, 0IRF)TO %é%jd e9C3RTN
BIRBEBORID
1 g2
(2) @O

(3)  23oezo00T® 5y

(4)  ©RuRGE
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37.

38.

39.

Which of the following molecules represents the
order of hybridisation spz, spz, sp, sp from left to
right atoms ?

(D
(2)
3
4)

CH;-CH=CH-CH;4
HC=C-C=CH

CH, =CH - CH = CH,
CHy=CH-C=CH

Which of the following carbocations is expected to
be most stable ?

NO,

s

(D

Y

NO,
. Q
Y H
NO,
g
v/ &
NO,

Y H

4)

Which of the following is correct with respect to
— I effect of the substituents ? (R = alkyl)

(1) —-NRy>-OR>-F
(2) -NHy<-OR<-F
(3) —-NHy>-OR>-F

(4) -NRy<-OR<-F

317.

38.

39.

FONS LN IR TRTRN  ABOOT WO
TTBREONTY, sp?, sp% sp, sp RoBOETERTT
BEVQROWID

(D
(2)
3

CH, - CH = CH - CHj
HC=C-C=CH

CH, = CH - CH = CH,,
4) CH,=CH-C=CH

BRLTON  BUWRFTE  WOIRIINYY, IR TR
TR0 DOEFRWBITNT

NO,

H

(2)

(3)

as
o
kg

(4)

A5
&

Y H

NS wdegng -1 adbe  eegdoDd d@mdoéﬁ

TOWORATOZ BOOINT oo (R = v o)
(1) -NRy>-OR>-F
(2) -NHy<-OR<-F
(3) -NH,>-OR>-F

(4) —-NRy<-OR<-F
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40.

41.

42.

43.

44.

45.

Which of the following statements is not true for
halogens ?

(1) Chlorine has the
enthalpy.

highest electron-gain

(2)  All form monobasic oxyacids.

(3) All but fluorine show positive oxidation
states.

(4) All are oxidizing agents.
Considering Ellingham diagram, which of the
following metals can be used to reduce alumina ?

(1) Cu

(2) Fe
3) Mg
(4) Zn

The correct order of atomic radii in group 13
elements is

1) B<Ga<Al<In<Tl
(2) B<Al<In<Ga<Tl
(3 B<Ga<Al<Tl<In
(4) B<Al<Ga<In<Tl

In the structure of C1F3, the number of lone pairs
of electrons on central atom ‘Cl’ is

(1) three

(2) one

(3) four

(4) two

The correct order of N-compounds in its
decreasing order of oxidation states is

(1) NH,CI, Ny, NO, HNOg4

(2) HNOj, NO, Ny, NH,CI
(3) HNO,, NH,CI, NO, N,,
(4) HNO,, NO, NH,CI, N,

Which one of the following elements is unable to
form N[F63 “ion ?

(1) In
(2) Ga
3 B
(4) Al

40.

41.

42,

43.

44.

45.

TYSRERTTNRY LI FPNT CIRET TewFoI0 AN,

(1) 30" WSS AT T 20eRdEROT.

(2) 2P FTTIYW, B8 BRI BRRETI.

(3) TpeoT TRTDIRY IYRP FoZE YUBHFD
S0 BeORTS.

Fe) 20

(4) QYR YVERFFTOMLD.

NJlelgtreg VBRI, TORL, FINTCRT  SReET
ESseplovelalon] @Qr%mmda’% DB RWIIT)

(1) Cu

(2) Fe

3) Mg

(4) Zn

RR® 13 8 GoBonvQ wW3mwead LMY BOOINT T30
(1) B<Ga<Al<In<Tl
(2) B<Al<In<Ga<Tl
3) B<Ga<Al<Tl<In

4) B<Al<Ga<In<Tl
ClIF; TwE3c9), deom, =oR[mew ‘Cl Roed 9o

(&ef?%@d 208303007371 o3 o

(1) Sowedd
(2) ot
(3) o
(4) 2T

Feinewa (N) Bpotdss Boodogndd N & eugwr o 3¢
NP3 9903 FOCINT 3R

(1) NH,CI, Ny, NO, HNO,

(2) HNOj, NO, N,, NH,CI

(3) HNO;, NH,CI, NO, N,

(4) HNOg, NO, NH,CI, N,

29NT ORT WOm T MFg” BRI, RRBLD
mqﬁsmﬁd)

(1) In
(2) Ga
3 B
4 Al
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46.

47.

48.

Which

of the following options correctly

represents the lung conditions in asthma and
emphysema, respectively ?

(D

(2)

3

(4)

Decreased  respiratory  surface;

Inflammation of bronchioles

Inflammation of bronchioles; Decreased

respiratory surface

Increased  respiratory  surface;

Inflammation of bronchioles

Increased number of bronchioles; Increased
respiratory surface

Match the items given in Column I with those in
Column II and select the correct option given

below :
Column I Column II
a. Tricuspid valve i. Between left atrium

(D
(2)
3
4)

and left ventricle
Bicuspid valve ii. Between right
ventricle and

pulmonary artery

Semilunar valve iii. Between right
atrium and right
ventricle

a b c

ii i iii

iii i ii

i ii iii

i iii ii

Match the items given in Column I with those in
Column II and select the correct option given

below :
Column I Column I1

a. Tidal volume i. 2500 — 3000 mL

b. Inspiratory Reserve  ii. 1100 — 1200 mL
volume

c. Expiratory Reserve iii. 500 — 550 mL
volume

d. Residual volume iv. 1000 — 1100 mL
a b c d

1) iv iii ii i

(2) il ii i iv

3 i iv ii iii

(4) iii i iv ii

46. oI FB 20eBRE FoWORRTOZ B FINT IR
QYT FOOIRN TTEREBT RGN, TBrAoSTBRROZS

417.

48.

(D

(2)

3
(4)

BRCING IEREBT e ;5 wooseodpewns
Siolei:s)

woodecdneeony  Aeod;
FRBWOCINRRONS

BN TRBRCST B0 ; 239,0803R000NY BeoBd
5] 3 ey T2

woscdpeony  BfFRosd; TIIREBT  Bded
TEODE

mﬁﬁ&@eécﬁ a’beez y

500 I 3583 Fowo I 3, FOB0RIR), FOWRA BROD :

o)
(2
3
4)

Rllel § goeoll
&3 Tz i 2BREI0 DR R
332303 S@H
08 Famis i, 2OEBE 0B BYSO
SLFO0% IBOH
9TIF30T, Baxots iii. WOBZEDF F0ZY WO
B30 T@H
a b c
ii i iii
iii i ii
i ii iii
i iii ii

50 I 358 390 I 38, FoB0NIR) FORA BROD :

(D
(2)
3
4)

o001 o0 I

BB =T i, 2500 — 3000 mL
D RBee30 OIRBE ii. 1100 — 1200 mL
TORIT

DBLTELO ORSE iii. 500 — 550 mL
Explslovey

62@35053@6 m@@sw iv. 1000 — 1100 mL

a b c d
iv 1ii il i
iii il i iv
i iv il iii
iii i iv il
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49.

50.

51.

52.

The transparent lens in the human eye is held in
its place by

(1) smooth muscles attached to the ciliary body
(2) ligaments attached to the ciliary body
(3) smooth muscles attached to the iris

(4) ligaments attached to the iris

Which of the following is an amino acid derived
hormone ?

(1) Estriol

(2) Epinephrine
(3) Estradiol

(4) Ecdysone

Which of the following structures or regions is
incorrectly paired with its function ?

band of fibers
connecting left and
right cerebral
hemispheres.

(1) Corpus callosum

(2) Medulla oblongata : controls respiration
and cardiovascular

reflexes.

production of
releasing hormones
and regulation of
temperature,
hunger and thirst.

(3) Hypothalamus

consists of fibre
tracts that
interconnect
different regions of
brain; controls
movement.

(4) Limbic system

Which of the following hormones can play a
significant role in osteoporosis ?

(1) Parathyroid hormone and Prolactin
(2) Aldosterone and Prolactin
(3) Estrogen and Parathyroid hormone

(4) Progesterone and Aldosterone

49.

50.

51.

52.

BRTBI FYRY, TWOTBFT  BIRCR  IF WNE,
o3RR)TOOT BBV

(1) 2Oecd Bewms LoLBRORTOR WY ACIVNPOT
(2)  2Oead FewmE ©orBRoRTIR ONdLRTOT

(3)  0OFR ©0esBRORTIT WY WEINNROT

(4)  2OFR 20t3BROBTVT ONFRoLINTOT

33 FNJIPYNTS, BRI LWERE BRR0T T3
TOTREERD

(1) syER
(2) @B

3) SRR
(4)  ~BFIRe®

35 TINTINYY, CIRT TWINY ©F= BRBND By

30RNS 23R FooeN tdedainne) ?

DT WY WO FT,*

@drﬁme@ﬁ%fail 2002

NG g,

(2) DBy e TR 80300339 D008

CROReERD %doﬁa‘é’s T020QATOZ
BENFE 8,03080e0703.

;. TRREFIONG WEINTE =039
SURZ OO, TR WoBY
23003508,

P03 E,TI0T BRBOLITD
QOTVT BOITO BTN,
WRCBBRNEIZTS; BOSOD
Q0308,7033.

(1) TFF
FARERRT®

3)  FRpeFeRT

4) ooz 5}%% :

85 FINT TRRFINIY, IR SROIRTPTIAT
DB YT, BERGROPI ?

(1) TRTFPTIE ToBREFTRD [T FCBET

(2) R @082 Fp Rt

(3) SRR [T T TIFPTIWE ToWREF S

(4)  Bpeeiraeoeod RB) SERRSTHT
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53.

54.

55.

56.

57.

AGGTATCGCAT is a sequence from the coding
strand of a gene. What will be the corresponding
sequence of the transcribed mRNA ?

(1) UCCAUAGCGUA

(2) AGGUAUCGCAU

(3) ACCUAUGCGAU

(4) UGGTUTCGCAT

Match the items given in Column I with those in

Column II and select the correct option given
below :
Column I Column I

a. Proliferative Phase i. Breakdown of

endometrial
lining
b.  Secretory Phase ii. Follicular Phase
c. Menstruation iii. Luteal Phase
a b c

(1) iii i ii
(2) iii ii i
(3) ii iil i
(4) i iii ii

All of the following are part of an operon except
(1) a promoter

(2) an operator

(3) an enhancer

(4) structural genes

According to Hugo de Vries, the mechanism of
evolution is

(1) Minor mutations

(2) Multiple step mutations

(3) Phenotypic variations

(4) Saltation

A woman has an X-linked condition on one of her

X chromosomes. This chromosome can be

inherited by

(1) Both sons and daughters
(2)  Only daughters

(3) Only grandchildren

(4) Only sons

53.

54.

55.

56.

57.

AGGTATCGCAT 20t Mmool w0edddR
FoBeBT0 0803 BRNZONSOTHNTIZT TOMOBT JIFLO T3
mRNA 30¢980% £33 ©308eT ZmRIONS DI ?

(1) UCCAUAGCGUA

(2) AGGUAUCGCAU

(3) ACCUAUGCGAU
(4) UGGTUTCGCAT

Fowo0 [ 23383 sowo II 89, é@&aﬁ@&z{ﬂamn BROOX ¢

o001 o0 IT
a. OFe0e i H0BEREOL0NET TIT
303 BOOTRMORTD

b. AFD B3 ii.
c. BouBBT i,

PIBRLRT B0
Slokkewiog fetorc]

a b c
(1) iii i ii
(2) iii ii i
3 i iii i
4) i iii ii
33 NS ooy, NN wBo  Fedw) woBERY
BRATBOTRL
(1) 20T BBeeesc”
(2) 2.0 T3ee3T”
() 2ol TR
(4) B MOEREON

BRRRE B FTTS FFT LeBNFTRT T30 2033
(1) 8 Fey Boeers”,

(2)  wE Boedeo B EseR’,

() B ITRR[OD FIFIN

(4) SRS

2.2y &Bd$od 35’3{ X Tear2odoas @oed X-3owod
RGODT BROQTITYY.  TMRBS  Bs WEFBOBN
3303308033030

(1) o 083 Teag Bozent =80T

(2) By R0593 =g,

(3)  BeREent TR

(4)  RowBIR =wg,
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58.

59.

60.

61.

62.

63.

In which disease does mosquito transmitted
pathogen cause chronic inflammation of
lymphatic vessels ?

(1) Amoebiasis

(2) Elephantiasis

(3) Ringworm disease
(4) Ascariasis

Among the following sets of examples for
divergent evolution, select the incorrect option :
(1) Eye of octopus, bat and man

(2) Forelimbs of man, bat and cheetah

(3) Brain of bat, man and cheetah

(4) Heart of bat, man and cheetah

Conversion of milk to curd improves its
nutritional value by increasing the amount of

(1) Vitamin E
(2) Vitamin D
(3) Vitamin By,

(4) Vitamin A

Which of the following is not an autoimmune
disease ?

(1) Vitiligo

(2) Psoriasis

(83) Alzheimer’s disease
(4) Rheumatoid arthritis

The similarity of bone structure in the forelimbs
of many vertebrates is an example of

(1) Adaptive radiation
(2) Homology

(3) Convergent evolution
(4) Analogy

Which of the following characteristics represent
‘Inheritance of blood groups’ in humans ?

a. Dominance

b. Co-dominance

c.  Multiple allele

d. Incomplete dominance
. Polygenic inheritance
(1) a,cande

(2) b,cande
(83) b,dande
(4) a,bandc

58.

59.

60.

61.

62.

63.

85 FINT  CInam TOWSADY Jeemorady AN
B208308T FAITED TBRod Do TYNY @ Aweodnt
FoTERERMOST

(1)  eQ0eR03RI=*

(2)  2OTordcdnaz®

(3)  TooBOBO TOWS

(4)  ©SAOXRIT

33 BINTYNYQTT YVEOTTT NMOOF)NTO Gsedroes BzE
ROWOFBURNPNDY;  oRNYY,  Foobew  Befeddm)
SORRA :

(1) ERe@x, wWoRd #08) BRORT FeoY,

(2)  RoF,, R =) 8TINY @Woormedned

() RY, RRR, [0 8TIOD Q0T

(4) RO, RORF, == WOINY FTOH

ToO0T BRRTY BOBSrIodenIE  ¥e3In a—u?e?%@osd
[P, 2BT BeZ00T BRI

(1) QT E

(2) ez D

(3) Qe By,

4) QT A

B3 INIRNTE, IR ;;;draerﬁ QTG TR
TOLOF TRIPAY,

(1) oesdnree

(2) Rncoodnaz®

3 ©g ddm“s—‘ 00

(4) TORREPOWT WFFJT

TOEIT)  FFeTBASY  DoedS  Bwed  TBEICYI

YB3 fadéd VTIOBTT
(1) STepbioy BeiodeRS’
(2) IneedpeodN

(8) 3IIDIFows VTR

(4) 8N

s NS oIn®  rened 088 roo@ned
RT0beoE o) ARTHIE, BENGRE ?

a.  AOTPEF TTowSRedd

b. A= DByemEeedd

c. WTIBOS0YROTTENTD

d.  egpes D 2R

e. OIS BR0TodecHI
(1) a,cx3ne

(2) b,ce

(3) b,dadge

4) a,bzo3yc
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64.

65.

66.

67.

68.

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I Column I
a. Eutrophication i. UV-B radiation
b.  Sanitary landfill ii. Deforestation
c. Snow blindness iii. Nutrient
enrichment

d. Jhum cultivation iv. Waste disposal

a b c d
n i ii iv iii
(2) 1 i iii iv
(3) iii iv i i
4) i iii iv ii

All of the following are included in ‘Ex-situ
conservation’ except

(1) Seed banks

(2) Wildlife safari parks
(3) Botanical gardens
(4) Sacred groves

Which one of the following population
interactions is widely used in medical science for
the production of antibiotics ?

(1) Amensalism
(2) Commensalism
(3) Parasitism

(4) Mutualism

In a growing population of a country,

(1) pre-reproductive individuals are less than
the reproductive individuals.

(2) pre-reproductive individuals are more than
the reproductive individuals.

(3) reproductive and pre-reproductive
individuals are equal in number.

(4) reproductive individuals are less than the
post-reproductive individuals.

Which part of poppy plant is used to obtain the
drug “Smack” ?

(1) Leaves
(2) Flowers
(3)  Roots
(4) Latex

64.

65.

66.

67.

68.

500 I 3583 Fowo I 3¢, 30B0RIR) FOWRA TR0V :

oo Il

UV-B 283

goool
a. LRSS .
b. A0 ROW i
QEF
c. ®VOW BTOB®  iii.

@ds% T0dCTTD

TPFo03 BOREE

d. =3 3OReBT v, I, DA03REN
a b c d

1 i ii iv iii

(2) ii i iii iv

(3) iii iv i ii

4) i iii iv ii

FINTIYNYY ‘o B e FoTFER 1 Fe0T) @TIE, 20w
Sis{Eta

(1) oews ww0snd

(2)  BIe Bpod LVEREND

(3)  RANG TREIT

(4) GR35 ERe@N

33 BINTYNIY, ORI 2,000 TRIBT QLTYZR® B
BT 30D é)g;@dde}ﬁ 50630000688 3033R0FOY, éziaw
WFROTT

(1) 8 3030 3TOW ABIETI

(2) A2® BRI

(8) ZoIRB©ONT BeRS

(4) THTBReS

2,083 Te3T wWSP0aT, LIFHeIriosd

(1) oeRpdees [IMNOT LOTPBIES  BITTd
3R 9T0CT.

(2) B[odA OB BINONCT  XOCTPTIET
Snd se3poes.

(3) ocEp@e == FpeOTP B BN AR
F033,009,2002T.

(4)  Sped OepWe® [INONOT OeRRTWe N
BRI 20ITYT.

T8 NI IR PN 7 7 IRTE B, oo

YUTC3ReNZITYT

(1) a&Snsd

(2) =PRPNH
(8) 3edonsd
4) Bz
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69.

70.

71.

72.

Hormones secreted by the placenta to maintain
pregnancy are

(1) hCG, progestogens, estrogens,
glucocorticoids

(2) hCG, hPL, progestogens, prolactin
(3) hCG, hPL, progestogens, estrogens
(4) hCG, hPL, estrogens, relaxin, oxytocin

The amnion of mammalian embryo is derived
from

(1) ectoderm and endoderm

(2) ectoderm and mesoderm

(3) mesoderm and trophoblast

(4) endoderm and mesoderm

The contraceptive ‘SAHELT
(1) is a post-coital contraceptive.

(2) Dblocks estrogen receptors in the uterus,
preventing eggs from getting implanted.

(3) 1isanIUD.

(4) increases the concentration of estrogen and

prevents ovulation in females.

The difference between spermiogenesis and

spermiation is

(1) In spermiogenesis spermatozoa are formed,

while in spermiation spermatozoa are
released from sertoli cells into the cavity of

seminiferous tubules.

(2) In spermiogenesis spermatids are formed,

while in spermiation spermatozoa are

formed.

(3) In spermiogenesis spermatozoa from sertoli
into the
seminiferous tubules, while in spermiation

cells are released cavity of

spermatozoa are formed.

(4) In spermiogenesis spermatozoa are formed,

while in spermiation spermatids are

formed.

69.

70.

71.

72.

TRHoEROOT NPFSST AVFIH RRBL ZAFOTRNIT
TOBREFIONGD 03RR)H0BT

(1) hCG, afj_a)&f"’fomwzs"a@ , é%ﬁ%gzz??o’g,
NSRS TI0IT
(2)  hCG, hPL, peiEnta, Fecnss
(3) hCG, hPL, Spns, sfnmis
(4)  hCG, hPL, adnees, 0o ss, SBeEREAT

AP PeHnoe
OMTOTONTS

ENOIRT  cIRE00s

(1) TRJTRoF WIBY WITROF

(2) TeROTRoF B BoFTRF
(3)  SFPTRor R WRTRRT,
(4)  IBor R0 BoFTROF

RPr8ReRE ‘T3e’ 030

(1) o ons 305003 3033 RS Ny adRes.

(2) NPrEncEBOmn 3hReds MYy @,
BN LoBIF FBIRRA T, SEeI0T3.

(3) a0 wor IUD.
(4) SARYS T@eawmsy TeROTS BT BeaROTYY,

©0TRIZOIT) 3BEMEDIT.
o % e
R0FOdReENTRR  WBY  AOFodEST AR QTH
RTRReS0TT
(1) ZBOFo3RefRATTEY, QOIRFEOND  GUBZOINTT;
T0F 036389, QCIRE LN BT
1RIPIRE WRRBCIRIOZS.

(2)  BOFO3REERTTY, FRRFUWE T LUBIOINTT;
T35 030e3ZTE, OIRE £ GVBFOIRTOZS.

(8)  Rs0rodRefRTTTY, 2O3FEINS
Redper GBREBNPOT FUHTT LWRENY ToBT
VRNBIRTT; IR0 odSTEY, DOIRF eI
V30T,

(4)  BOFO3REERATTY, DOIRFLONLD  GVBIOINTT;
F0F 03B TE FRRF LT N LUBZOIRMIZES.
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Match the items given in Column I with those in

Column II and select the correct option given

Column II

Accumulation of uric
acid in joints

Mass of crystallised
salts within the kidney

Inflammation in
glomeruli

Presence of glucose in
urine

d
1ii
i
iv

iv

Match the items given in Column I with those in

Column II and select the correct option given

73.
below :
Column I
a.  Glycosuria 1.
b. Gout ii.
c. Renal calculi  iii.
d. Glomerular iv.
nephritis
a b c
(1) v i ii
(2) iii i1 iv
3) 1 iii i
4) i ii iii
74.
below :
Column I
(Function)

a. Ultrafiltration

b. Concentration
of urine

c. Transport of
urine

d. Storage of urine

a b c
1 v iv i
(2) iv v ii
3) v iv i
(4) iv i ii

Column II

(Part of Excretory
System,)

i. Henle’s loop

ii. Ureter

iii. Urinary bladder

iv. Malpighian
corpuscle

v. Proximal
convoluted tubule

iii
iii
ii

iil

73.

74.

500 I 3583 Fowo I 3¢, 30B0RIR) FOWRA TR0V :

(D
(2)
3
4)

o001

R, ReRRO0IR

o

oener z@ag@%ogeg

MESITOeRT®
STYes
a b
iv i
iii ii
ii iii
i il

1.

ii.

iii.

iv.

ii

iv

iii

oo Il

ROTONEE cIwdF e
3esdT

TUZR0BE WM BT mid
ORFHIOIT Tod

MROTOYR VO0RE
DoRZTE Y BEBOD 03
2BoNE

d

iii

iv

iv

500 I 3583 3ov0 I 38, 30R0NYR) FORA TRV :

(D
(2)
3
(4)

ool
( ﬂabr)

S0) BRCRONS
BRI T0T3

[T, TTIEF

[T, Fe3TH

iv v
v iv

iv i

1.

iii.

ii

ii

goooll
( QIS PRI apan’)
BISeT I9F

0303 ee3T*

EARTOCAANG)
B OOV FIBFAST ML
BT IS
@3%2,.)3@5

d

1ii

iii

ii

iii
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75.

76.

71.

78.

Which of the following gastric cells indirectly
help in erythropoiesis ?

(1) Parietal cells

(2) Chief cells

(3) Goblet cells

(4) Mucous cells

Match the items given in Column I with those in

Column II and select the correct option given

below :
Column I Column I

a.  Fibrinogen 1. Osmotic balance

b.  Globulin ii.  Blood clotting

c.  Albumin iii.  Defence mechanism
a b c

(1 il iii i

(2) il ii i

3) i iii ii

4 i ii iii

Which of the following is an occupational

respiratory disorder ?
(1) Emphysema

(2) Anthracis

(3) Botulism

(4) Silicosis

Calcium 1is important in skeletal muscle

contraction because it
(1) prevents the formation of bonds between

the myosin cross bridges and the actin
filament.

(2) binds to troponin to remove the masking of
active sites on actin for myosin.

(3) detaches the myosin head from the actin
filament.

(4) activates the myosin ATPase by binding to
it.

75.

76.

71.

78.

08560 BRODY, B3 FINT BN MHRF BRBNH SeS=QB
068038, AT BRBOZS

(1) Sorer Bpesnsd
(2)  Wex® B3N

(3) Reerder dneand
(4)  Bdrer® 3nedned

500 I 3583 Fowo I 38, FOB0RIR), FOWRA BRODA :

goool gowoll

a. PUIRET i ST TRZReo
b. Meds® ii. 08 SRFReond
c. BRI iii. XoTgs 8,03

a b c
(1) i iii i
(2) il ii i
3 i iii il
4 i ii iii

2RNIE, CIRFT1 2,080 FZF0e0T TIFEREST SRTE ?
(1) QoRe=R

(2) wozRT

(3) e OIRT

4)  rd3eerT®

BRAOIONY BOBNWTE, 59, 0D WBITND FTT

(1) Soodeera  wEIDBIAY DI ST Fodobd
SRS ST 0T[R, BERLIPT.

(2) @B  WRSR WRIVRRTT Bowe0Es
Doodper BoedToBm WY FoIRgT NNy

mmsmq BRTTOBIT)).
(3) Soo3eeas® 3@3033534 St 3080003
23D BROF)T.

(4) Soodeeas®  ATPodexr $¥e3R wodRoxad
Bo080008T @d@ BOTOTNROTT.
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79.

80.

81.

82.

83.

84.

Which of the following events does not occur in
rough endoplasmic reticulum ?

(1) Phospholipid synthesis

(2) Protein folding

(3) Cleavage of signal peptide

(4) Protein glycosylation

Many ribosomes may associate with a single
mRNA to form multiple copies of a polypeptide

simultaneously. Such strings of ribosomes are
termed as

(1) Nucleosome

(2) Polysome

(3) Plastidome

(4) Polyhedral bodies

Nissl bodies are mainly composed of
(1) Free ribosomes and RER

(2) Proteins and lipids

(3) Nucleic acids and SER

(4) DNA and RNA

Which of these statements is incorrect ?

(1) Oxidative phosphorylation takes place in
outer mitochondrial membrane.

(2) Enzymes of TCA cycle are present in
mitochondrial matrix.

(3)  Glycolysis operates as long as it is supplied
with NAD that can pick up hydrogen atoms.

(4) Glycolysis occurs in cytosol.

Select the incorrect match :

(1) Polytene
chromosomes

(2) Lampbrush

chromosomes

— Oocytes of amphibians

— Diplotene bivalents

(3) Submetacentric — L-shaped chromososmes
chromosomes

(4) Allosomes — Sex chromosomes

Which of the following terms describe human
dentition ?

(1) Pleurodont, Diphyodont, Heterodont
(2) Thecodont, Diphyodont, Homodont

(3) Pleurodont, Monophyodont, Homodont
(4) Thecodont, Diphyodont, Heterodont

79.

80.

81.

82.

83.

84.

33 FINT PLISMSE), TR WD Wo3T  TIPOTEY,
(RER) S@at03ae ?

(D =RROLENY VZES

(2)  Bpeedeand SondNd

(8) Roded I B VI

(4)  Fpeweand i Faded

TOD FLIRAREROND 030, Feornzodpendooddnt
20> mRNA ¥p8 3= wad BERY OB B
QT0ITN  BOSRTY  WRBZR.  @oI3m  ERINART
JudneRemond 308nt FI30

(1) Se3dredness

(2) TOZeeRT

(3)  osdReERT

4) WSS BeBNSd

DR Te@reh RoDmN BoTEEEIRNITIR

(1) =gog, Juindneonsd =8y RER
(2) Rpeess® DIy EEned

(3)  BR3odre Lo @2 SER

(4) DNA 302 RNA

QRNTE, 033 Bewd Foowe ?
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B, EBIATIZS.

(3) 7 5037 Qepormmodd=cn Sdobes NAD n
BPGF0dRodn FERART Weone é%%ébéom WOT.

(4) 7§ G 3neBrRTY S0k

TR ERODBCIR), SRR

(1) D93 WearB030NED - YVIOIDTOR 203

(2) ROTWT FeorBoNT - BIREL” PYPewoes
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B NS cInm  Fnth  BSES 53036236033;’;%
DBWORIT ?

(1) ﬁ‘%d@emoé&, c%égoiraemo&s, Be3TRCT0LS

(2) &cdnema0ts, z%@o:’iraemou, TRCTPCTZI03

(3) FR,, BP0, BRVRELOIRETEIOL, TREGRALTEOES
(4) Se8REIOW, TFHO3RETIOLW, THESTRCTWOL
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85.

86.

87.

88.

89.

90.

Which one of these animals is not a
homeotherm ?

(1) Psittacula
(2) Macropus
(3) Camelus
(4) Chelone

Which of the following features is used to identify
a male cockroach from a female cockroach ?

(1) Presence of anal cerci

(2) Presence of a boat shaped sternum on the
9" abdominal segment

(3) Forewings with darker tegmina

(4) Presence of caudal styles

Which of the following organisms are known as

chief producers in the oceans ?

(1) Euglenoids

(2) Dinoflagellates

(3) Cyanobacteria

(4) Diatoms

Ciliates differ from all other protozoans in
(1) having two types of nuclei

(2) using flagella for locomotion

(3) using pseudopodia for capturing prey

(4) having a contractile vacuole for removing
excess water

Which of the following animals does not undergo
metamorphosis ?

(1) Starfish

(2) Earthworm
(3) Moth

(4) Tunicate

Identify the vertebrate group of animals
characterized by crop and gizzard in its digestive
system.

(1) Osteichthyes
(2) Amphibia

(3) Aves

(4) Reptilia

85.

86.

87.

88.

89.

90.

B3 FINT TN 2,003 WATT & rae)?

(1) 2eRp

(2) ST

(3)  wwoT

(4) 3scdpea®

Momy 2BTFoDT) Teay, WIFCWOT MR 83 FINT

B MIEFVFENTR) LVTC3RENTOTIT ?

(1) RTDRAY WBRSCT

(2) Teeed $503 BB 2.0WBICI YVTT DOBTE,
SUTRS0T

(3)  Booyena TEeD iR TmeE i, T

(4) BB 3 & GwBRICWT

33 BINT O3 NI, FONTT B2, YVTHTETD 0T

BR0R0eT ?

(1) o303

(2) dSeegrdees

(3) RoIRBperR IO

(4) wWoIRwW,

2OCIITCI0T TEITIEO VTS &, SRWEDNIN0T LT

(1) 20> 3B 3ned e ReR) Bpohs

(2) B szvon=EY, woRmodpen<dE:s

(3)  WITEIR) ABLRLD DFTPTRI), WIRZES
(4) TRE VeI BRTDZITLD FoBWT BITT TRV
33 3PNT 03N 3N SRBVOTIFSR wemmPAe), ?

(1) =ggaoe

(2) T3

(3) e,

(4) wpldes

WTON RIS, DT WY NBBE  TOLOFLNTI)
BRoDTIE 30T Moo B0 &, e30508) MBI

(1) ©R58 N

(2)  evIooTRANGD

(3) b

(4) ROFTNEd
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91.

92.

93.

94.

95.

96.

97.

98.

The two functional groups characteristic of
sugars are

(1) carbonyl and hydroxyl

(2) hydroxyl and methyl

(3) carbonyl and phosphate

(4) carbonyl and methyl

Which among the following is not a prokaryote ?
(1) Oscillatoria

(2)  Saccharomyces

(3) Nostoc

(4) Mycobacterium

Which of the following is not a product of light

reaction of photosynthesis ?
(1) Oxygen

(2) ATP

(3) NADPH

(4) NADH

Stomatal movement is not affected by
(1) COgy concentration

(2) Temperature

(3)  Og concentration

(4) Light

The Golgi complex participates in

(1) Activation of amino acid

(2) Fatty acid breakdown

(3) Respiration in bacteria

(4) Formation of secretory vesicles
Which of the following is true for nucleolus ?

(1) It is a site for active ribosomal RNA
synthesis.

(2) Larger nucleoli are present in dividing cells.
(3) It takes part in spindle formation.

(4) It is a membrane-bound structure.

The stage during which separation of the paired
homologous chromosomes begins is

(1) Zygotene

(2) Pachytene

(3) Diakinesis

(4) Diplotene

Stomata in grass leaf are

(1) Barrel shaped

(2) Dumb-bell shaped

(3) Rectangular

(4) Kidney shaped

91.

92.

93.

94.

95.

96.

97.

98.
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noRNSoTT
(1) VRIS B F e

2)  FEser o8y Wege
(3) URFIC T2 FoAew®
(4)  BIRFIS B QeGP
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33 9]

B3 FINTRNIY, 0T @pF,003Rees @& ?
(1)  erRedeeoodn

(2) A FdRe AT

(3) o5

(4)  SHHaeemseooo

B FINTPYNYY, IR WE[oFeR[OD 38T
B030CDYT 0T ¢ ?

(1) Oxygen

(2) ATP

(3) NADPH

(4) NADH
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(2)  ovgg
3) 0, mcE
4) 39
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@) mIE ST v
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FINTYNT, 0330 3O ?

(1) 303 FuipeiRenT ST°.0F" .. JoFRBOD FYY)
QTNT.

(2) OPnId BeomgDIB  wBemde3nds), Fneddecd,
AOTFODNL BRFOTOES.

(3) %@do ma@dﬁ&b@ fada —aeira%ﬁoécﬁ
(4) aBROT %racfamdé dzéﬁommi

2R3ERZNTOR  ABNIOVHALRIEI0BONG 3o B30

STOPRRRIT 58 BOITY,
(1) Free

(2) =’

(8) BoIngsaw
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99.

100.

101.

102.

103.

104.

105.

Pollen grains can be stored for several years in
liquid nitrogen having a temperature of

(1) -160°C

(2) -120°C

(3) -196°C

(4) -80°C

Oxygen is not produced during photosynthesis by
(1) Chara

(2) Green sulphur bacteria

(3)
(4)
Double fertilization is
(1
(2)

Cycas
Nostoc

Syngamy and triple fusion

Fusion of two male gametes of a pollen tube
with two different eggs

3
4)

Fusion of two male gametes with one egg
Fusion of one male gamete with two polar
nuclei

Which one of the following plants shows a very
close relationship with a species of moth, where
none of the two can complete its life cycle without
the other ?

(1) Viola

(2) Hpydrilla
(3) Banana
4

Which of the following elements is responsible for
maintaining turgor in cells ?

(D
(2)
(3)
(4)
In which of the following forms is iron absorbed
by plants ?

(D
(2)
(3)
(4)

What is the
respiration ?

(1)

Yucca

Calcium
Magnesium
Potassium
Sodium

Both ferric and ferrous
Ferric

Free element

Ferrous

role of NAD' in cellular
It is the final electron acceptor for anaerobic
respiration.

(2)
(3)

(4)

It functions as an enzyme.
It is a nucleotide source for ATP synthesis.
It functions as an electron carrier.

99.

100.

101.

102.

103.

104.

105.

31 URHZONY, BWORWE WORIFRY, VOANTEONIR)
BOTOT) BRENS T FeDOUTBLTBITIINGS

(1) -160°C

(2) —-120°C
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(1) Sodece
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106.

107.

108.

109.

110.

111.

112,

Select the correct match :

(D

Francois Jacob and

Lac operon
Jacques Monod

(2) Alec Jeffreys — Streptococcus
pheumoniae

(3) Matthew Meselson —  Pisum sativum
and F. Stahl

(4) Alfred Hershey and - TMV
Martha Chase

The experimental proof for semiconservative

replication of DNA was first shown in a

(1) Virus

(2) Fungus

(3) Plant

(4) Bacterium

Select the correct statement :
(1
(2)
(3)
(4)

Transduction was discovered by S. Altman.
Franklin Stahl coined the term “linkage”.
Spliceosomes take part in translation.
Punnett square was developed by a British

scientist.
Which of the following pairs is wrongly
matched ?
(1) T.H. Morgan Linkage
(2) Starch synthesis in pea Multiple alleles
(3) XO type sex Grasshopper
determination
(4) ABO blood grouping Co-dominance
Offsets are produced by

(1
(2)
(3)
4)
Which of the following flowers only once in its
life-time ?

(1) Papaya

(2) Bamboo species

(3) Mango

(4) Jackfruit

Which of the following has proved helpful in
preserving pollen as fossils ?

(D
(2)
(3)
(4)

Parthenogenesis
Meiotic divisions
Parthenocarpy

Mitotic divisions

Sporopollenin
Pollenkitt

Oil content
Cellulosic intine

106.

107.

108.

109.

110.

111.
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113.

114.

115.

116.

117.

118.

Use of bioresources by multinational companies
and organisations without authorisation from the
concerned country and its people is called

(D
(2)
3
4)

Bioexploitation

Bio-infringement

Biodegradation

Biopiracy

Which of the following is commonly used as a
vector for introducing a DNA fragment in human
lymphocytes ?

(1) pBR 322

(2) Retrovirus

(3)
(4)

A phage

Ti plasmid

The correct order of steps in Polymerase Chain
Reaction (PCR) is

(D
(2)
(3)
(4)

Denaturation, Annealing, Extension
Extension, Denaturation, Annealing
Denaturation, Extension, Annealing

Annealing, Extension, Denaturation

A ‘new’ variety of rice was patented by a foreign
company, though such varieties have been
present in India for a long time. This is related to

(D
(2)
(3)
(4)

Basmati

Co-667

Lerma Rojo
Sharbati Sonora

Select the correct match :

(1) G. Mendel — Transformation
(2) Ribozyme — Nucleic acid

(3) T.H. Morgan — Transduction
(4) FyxRecessive parent — Dihybrid cross

In India, the organisation responsible for
assessing the safety of introducing genetically
modified organisms for public use is

(1)

Genetic Engineering Appraisal Committee

(GEAC)

(2) Indian Council of Medical Research (ICMR)

(3) Research Committee on Genetic
Manipulation (RCGM)

(4) Council for Scientific and Industrial
Research (CSIR)

113.

114.

115.

116.

117.

118.

(D
(2)
3
(4)

BREss  Sogpeduoner

WBITISEOR FOHAINED W Ry DT BomIRUNY
WIFODY, WTE FowoRE T, msmﬁ BEnvesoyg auge
BRBPI), %zﬁoﬁm@ds QoOT.

2I03RENT FTROIF e

woiram% 0eF 0L

WO3RERN BRI

WOSREFTY

8.003°.. &m%@odﬁg{
BHBRRVTL RPN LVBOIRENTOT TTTR) B3
FBNTYNSE), 03y ?

(1) pBR 322

(2) oupFo

(3) A PHees®

4) Ty

ORTex Yo 0cdngs (PCR) 398 Fo3ne 30cins
20303003

(1) ZuTTed, HTREEET, WFE3esTd

(2) @"@dséeﬁdsa, RTPRTTED, TTOROEST

(8) RpPRBTes, YTe3e3Ted, TTORISET

4) 39—0533635 QRTEIFTED, FLIOTHOED

D03TO YN WRIFONOT HTBTYFTR, woTd T3

@800 3%33&2{ Qede FoTA3Ro  Fesdoes*
BRREPOEBI AT oim@d@é RoLoRRTTT

(1)
(2)
3
4)

TOAURE TROOFODR) BO[RE

(1) =.Boode* - CRZ03Ted

(2)  Fp3ndysrT - D[RIODF &[,

(3) @w.3F. Benes Csoanl et

(4)  Fyx oT00 ®3008, - QR080 @BHOWR0E
(POBRY, AEFEIF  WIEN  BU0Z0  BenTY
BOWCWRW), BOTFFZOD [P 08T [RER TRFWMWOE
‘ad&ﬁ Noﬁ)m@ﬁodﬁ

(D)

m:g:%

Co-667

SBR¢ Beedne
JwFe BR[0T

WRWF QoD B[R, a@garm 208
(GEAC)

23008003 dd 30 RoBReFTo Bowz® (ICMR)
33635 aira—ar@ﬂdad ToBRerme Bewd (RCGM)
ST 3083 greose Bodnerme BowE (CSIR)

(2)
3
(4)

ALHCA/XX/Page 26

SPACE FOR ROUGH WORK

:
gcollegedumas
India’s largest Student Review Platform



119.

120.

121.

122,

123.

124.

Which of the following is a secondary pollutant ?
(1) Og

(2) CO

(3) SOy

(4) COqy

Natality refers to

(1
(2)
(3)
(4)
Niche is
(1)

Number of individuals entering a habitat
Death rate

Number of individuals leaving the habitat
Birth rate

the functional role played by the organism
where it lives

(2)

all the biological factors in the organism’s
environment

3

the range of temperature that the organism
needs to live

(4) the physical space where an organism lives
World Ozone Day is celebrated on

(1)
(2)
(3)

4)

2274 April

5% June

16th September
215" April

In stratosphere, which of the following elements
acts as a catalyst in degradation of ozone and
release of molecular oxygen ?

(1)
(2)
3
(4)

Oxygen
Carbon
Fe
Cl

What type of ecological pyramid would be
obtained with the following data ?

Secondary consumer : 120 g
Primary consumer: 60 g
Primary producer: 10 g
(D
(2)
(3)
(4)

Upright pyramid of biomass
Inverted pyramid of biomass
Upright pyramid of numbers
Pyramid of energy

119.

120.

121.

122,

123.

124.

B FINTRYNGY, CWRFT QZeaDds BROZFTT ?

(1) 0Oy
(2) CO
3) SO,
4) CO,

Sede8 (Natality) 03 evedeadRomcmd ‘_‘,"Zc

(1) emRapoms womb Hedds 33n8 Aoz,
2) o33

(3)  emeAROBO0R dRF RN F3rs Foss,
4) =333

2z (Niche) @0200T30

(1) 23edodpod o WTIBOGTOT
THZR ORI TOIRFET TT,

BWeROH  BORTTYIE 2, s [y 1P
90BN

20T WTRIBITFOTINED LIEFAMIE YVFTD R
eN03ROTD TR WTBETT  NTYS (P
DT YT RoIT  AA[eSNY  cvmodeen
BRRERIRE Wi

2L

938

3}

(2)

3
(4)

0B TR DTN 30RO .

%
(1) 228¢ e

(2) bJewnz®

(3) 163 AZowo

(4) 213cnae°

3 NS DRORBNYEY IR ForRReonE
DENDTEBN  REFR), ‘u&meﬁd&q ©edf SRETN
QP3RS ?

(1)  oREI?

(2) oo

(3) Fe
4 Cl

3 BINT ToT0ZTW Wwews o3RT  DegoD  BJOITT
QBT @@LMOCS LB ?

Qgeonds g3 1 120 g

THN0B 35T : 60 g

TET LvEEE: 10 g
Se33e0m00 W DBT2H0I LTT®
BSBIMT 5 DBTS0D LT

(D
(2)
3
(4)
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125.

126.

127.

128.

129.

130.

131.

Pneumatophores occur in
(1
(2)
(3)
(4)

Submerged hydrophytes
Halophytes

Carnivorous plants
Free-floating hydrophytes

Sweet potato is a modified
(1
(2)
(3)
(4)

Rhizome

Stem

Tap root
Adventitious root

Secondary xylem and phloem in dicot stem are
produced by

(D
(2)
3
4)

Axillary meristems
Apical meristems
Phellogen
Vascular cambium

Which of the following statements is correct ?
(1) Stems are usually unbranched in both
Cycas and Cedrus.

(2)

Ovules are not enclosed by ovary wall in
gymnosperms.

(3)
(4)

Horsetails are gymnosperms.

Selaginella is heterosporous, while Salvinia
is homosporous.

Casparian strips occur in
(D
(2)
(3)
(4)

Endodermis
Epidermis
Cortex
Pericycle

Select the wrong statement :
(1) Mitochondria are the powerhouse of the cell
in all kingdoms except Monera.

(2) Cell wall is present in members of Fungi
and Plantae.

(3) Pseudopodia are locomotory and feeding
structures in Sporozoans.

(4)

Mushrooms belong to Basidiomycetes.

Plants having little or no secondary growth are
(1)
(2)
(3)
(4)

Cycads
Grasses
Conifers

Deciduous angiosperms

125.

126.

127.

128.

129.

130.

131.

SRR R FpeT YD DRINTYTOZS

(1) =0sondo= u@##gﬁ@a

(2)  TIFND

(8) =RoAOTOO :dzigmb

(4)  RS0ZEONTE - Fewss WO AZM
ZTREIRO BITIETEOTT 2,033

(1) BedoTFo0R

(2) =Fzo0R@

(8) =o000e3eTd

(4) ©[oRONT e

Qﬁcﬁeﬁ 33 50RTY, Qﬁ%eoﬁaﬁ oo TR
@UZOIRNRRT BTOT

(1) Bgeod IPr3nss

(2) Ion IPFIpST

(3) Flxs®

(4) ToPeodd Feowoddo

LREO

B FINT TePINIE, CXRRTO TORNS ?

(1) Ferr WD IBINICET0R,  ToBRFIN
R TR TSLORIR) BROOIFNL, .

SR WeWIZNRIY, £90TIEONH
©0TETONRGNI0T 50T .
TR TN 0T WeRIZMTINES.
Fordy, — PIVeWFINT  STY
RROWEWFOI0Z SNTI.

T,3e00305" Tednsd ATSYIZES

(1) o3wTIT

(2) &I

(3) T,

(4) HoFgEr

3G BeDBOIN, BoWS :

(1) Sedoe DeoDTER LIBCY, WRRENVY,
FeiRT0R,CIRNY B2emERBT BENE SNT.

(2)

6))

4) FERAIR

(2) 3deoqmrish WP AABJENAYY,  FRe3POIN
QTI3.

(8) RARCRTPFNAYY, WHTTALH  Fordde [
0e370T TBSHFNSS.

(4)  e20923N%0 233BO3R d%mwﬁ 0.

@ WEme HZeoDE WRrtode R I nFond
(1) Fwownsd

(2) e AP
(8)  BoBogd BZNATO
(4) ZJIde® eﬁ%éweum’zsr{%
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132.

Match the items given in Column I with those in
Column II and select the correct option given

132.

500 I 3583 3o I 3¢, 30B0RIR) FOWRA TR0V :

below - ool goooll
Column I Column IT a. TIeFoodo i VTROTO FOTHAT AR 02

a. Herbarium i. Itisa place havinga @s@ﬁ%ﬁ@@@%d&d "’éza%g‘
collection of preserved b. 3¢ ii. TBeTHRoTTY Forowond e
plants and animals. @25@357{@@%5?’?@?\ 333>

b Key ii. A list that enumerates -
methodically all the m@djﬁ wééi&ﬁﬂd% i
species found in an area MOTEREH FpTFemaNThE0sT
with brief description RogeE DRCRNIIRFRROBITT.
aiding identification. c. da%%odoo iii. &R WEINRT A’#ZSMCSGT%%#&%

c. Museum iii. Is a place where dried and S3ROR 52%5, 20235 ;\,;eg%_
pressed plant specimens d. BTN iV, NP ERTNY RITOSRINB
mounted on sheets are 3 &
kept. 9BIBROTTTINTIR BT NN

d. Catalogue iv. A booklet containing a list R8s
of characters and their BOIRF ODNTRRIPORTI
alternates which are 2 9, 303RAS.
helpful in identification of °
various taxa. a b c d

a b c d (1) it iv i ii

SO i ii @ i iv iii ii

@ i v i @ i v i i

@ i v @ i i i iv

(4) iii ii i iv

133. Fnc3deor, FOBRMED OOST  $R03T  WeWIND
133. After karyogamy follmfved by meiosis, spores are LT3N CUBSCIRIRES 2330

produced exogenously in e «

(1)  Saccharomyces (1) medectHa

(2) Neurospora (2) &dezteoe

(3) Agaricus 3) w@mosT®

(4) Alternaria (4) @’%&”@F@Qim

134. Which one is wrongly matched ? 134. 2009, cIRFH FTE BROLIIRNG ?

(1)  Unicellular organism - Chlorella (1) OB Bpedeod o2ea - gpdeR,

(2)  Uniflagellate gametes — Polysiphonia (2) OB FDooNTWS ojariﬁ - TPDITPEOIR

(3) Gemma cups —  Marchantia (3) iy gmoried - IREorodoin

(4) Biflagellate zoospores — Brown algae @ o 2o 0mT2e3 Berendne - o5 3 So

135. Winged pollen grains are present in 135. 320000 Door Seeadnied BoORT &

(1) Pinus : - ”

1 gaor

(2) Mustard @)

(3) Mango 3) =B»xy

(4)  Cycas (4) Fw7
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136.

137.

138.

139.

The fundamental frequency in an open organ
pipe is equal to the third harmonic of a closed
organ pipe. If the length of the closed organ pipe
is 20 cm, the length of the open organ pipe is

(1) 16 cm
(2) 132cm
(3) 12-5cm
(4) 8cm

At what temperature will the rms speed of
oxygen molecules become just sufficient for
escaping from the Earth’s atmosphere ?

(Given :
Mass of oxygen molecule (m) = 2:76 x 10726 kg

Boltzmann’s constant kg = 1:38 x 102 3K
1)
(2)

1-254 x 10 K

2:508 x 10* K

(3) 5016x10*K

4) 8360x10*K

The efficiency of an ideal heat engine working
between the freezing point and boiling point of
water, is

1) 12:5%

(2) 268%

3) 625%

4) 20%

The volume (V) of a monatomic gas varies with
its temperature (T), as shown in the graph. The
ratio of work done by the gas, to the heat

absorbed by it, when it undergoes a change from
state A to state B, is

v

T

o

ﬁT

(1)

(2)

3

(4)

WM W= ol <3|

136.

137.

138.

139.

30T DOOH HBRre  FYEONYT BwewyRS S Fodw
BOWE  BOH  SAFT I9E0L  BowdS Aones
RRTT, FoBY BWOWRE B0 SNFS®  SIEAD g,
20 cm =33, 33T 0003 BRES IO emc;b@

(1) 16cm

(2) 13-2cm

(3) 12:5cm

(4) 8cm

CIRE  GUFZOID  SRITIE  WEODI rms  WEenQow

PRAOWOT VRIS REPILD FOOSIN LeFonoZes
(B=03 :
REIB ©9e00R 008 (m) = 276 x 10726 kg
WruFs® yocs ky = 138 x 1023 J K1)
1)
(2)

1254 x 10* K
2-508 x 10* K
(3) 5016x10*K
(4) 8360x10*K
2e0F FIETD Lo R0V BOCINT WoRINY IR

FOOE AR &R0 STIE emdm Rl R el cleves

1 125%
(2) 268%
3) 6:25%
4) 20%

Jgon 2pe0ATOTOZ VTEWAS @B ™, (V)
0% (T) eedrt FZ,030mengs. e A A 000033 A
B 7 203enoatmen, ¢oR) SRAT 3R w03 08003
0T [0TSR

i
B
A

o —>T
a 2
@) %
3) %
@ 2
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140.

141.

142,

143.

A metallic rod of mass per unit length
0-5 kg m! s lying horizontally on a smooth
inclined plane which makes an angle of 30° with
the horizontal. The rod is not allowed to slide
down by flowing a current through it when a
magnetic field of induction 0-25 T is acting on it
in the vertical direction. The current flowing in

the rod to keep it stationary is
(1) 11-32A

(2) T14A

(3) 1476 A

(4) 598A

An inductor 20 mH, a capacitor 100 uF and a
resistor 50 Q are connected in series across a
source of emf, V = 10 sin 314 t. The power loss in
the circuit is

1) 113W
(2) 079W
3 274W
(4) 043 W

A thin diamagnetic rod is placed vertically
between the poles of an electromagnet. When the
current in the electromagnet is switched on, then
the diamagnetic rod is pushed up, out of the
horizontal magnetic field. Hence the rod gains
energy. The work

gravitational potential

required to do this comes from

(1) the induced electric field due to the

changing magnetic field
the current source

(2)
3

the lattice structure of the material of the
rod

(4) the magnetic field

Current sensitivity of a moving coil galvanometer
is 5 div/mA and its voltage sensitivity (angular
deflection per unit voltage applied) is 20 div/V.
The resistance of the galvanometer is

(1) 500Q
(2) 40Q
(3) 250Q
4) 25Q

140.

141.

142.

143.

2080 PE38 v 098 0-5 kg mT 200 woRd EreBsd

RRBODI) gewE 30° BReTY, womd wIBeT Poed
3ewFIONYBOANG. & IoFOD  Fews AT
BOTRI, TOX WOROE FBODDRNG.  wow) QIR
woggee, Fedes 025 T BEFATT.  Aewdoddmy
RTBOYRLD WBTY TOT AT DR

(D
(2)

11-32 A
7-14 A
(3) 1476 A

(4) 598A
20 mH o 2oz Fess, 100 pF S 2,000 508 3030

50 Q 3 om0 d.@ezﬁ%ﬁ%%% emf, V=10sin 314 t 3
2o ©BsE  Ferd  dRe@mony,  FedATcInGT,
DT OBOTY, GV0ERT AT TR

(1)
(2)

1-113W
0-79 W
(3) 2714 W

(4) 043 W
20030 é)zﬁaz@ﬁoéa’ ciodri%i BT 20030 3P0

BOORTOSEOD ATIRY ©OWTON VBEANG.  DTYT0BE
DWTR), TWEmodALD TTORATIN, BOIRTI0SCT AT
33%808 Fe8000 WBoewt BRCIYORTT. ©BO0T AT
MOTOZBRF T VeI BOIBY, VBN, T, WRWLO
WezoNTO FOARY) FENT CINR)TOT 2303

(1)  WBRREIIRNISTO
Fede AT §eT,
DT BB BV
(3) AT TR WO TS
(4) w03 3,

2,000 BORDT  RTVAD  TROBREDETT IR
Reg Z030 5 div/mA 2022 spedees 7ng 3 (0D
B0 Jpeddews @a’gsojaﬁé) 20 div/V <338
MY,ORRENWT'S BREGT

FOZFEB00T  YVOERT

(2)

500 Q
40 Q
250 Q
25Q

(D)
(2)
3
(4)

ALHCA/XX/Page 31

SPACE FOR ROUGH WORK

:
gcollegedumas
India’s largest Student Review Platform



144.

145.

146.

147.

A moving block having mass m, collides with
another stationary block having mass 4m. The
lighter block comes to rest after collision. When
the initial velocity of the lighter block is v, then
the value of coefficient of restitution (e) will be

(1) 04

(2) 05

(3 08

4) 025

A body initially at rest and sliding along a
frictionless track from a height h (as shown in

the figure) just completes a vertical circle of
diameter AB = D. The height h is equal to

B

1‘ O

A

(1)

(2)

3

4) D

Which one of the following statements is

incorrect ?

(1) Coefficient of sliding
dimensions of length.

friction  has

(2) Rolling friction is smaller than sliding
friction.

(3)
(4)

Frictional force opposes the relative motion.

Limiting value of static friction is directly
proportional to normal reaction.

Three objects, A : (a solid sphere), B : (a thin
circular disk) and C : (a circular ring), each have
the same mass M and radius R. They all spin
with the same angular speed ® about their own
symmetry axes. The amounts of work (W)
required to bring them to rest, would satisfy the
relation

(1) WA > WC > WB

(3) WB > WA > WC

144.

145.

146.

147.

Tod m 0T 20T WORE DR RTINS Ted
4m 03! BeERD> DR BoPUIIRNG.
BoFeIBINT  FoBT  BOTIE DD AF 3R
WO, BRITTD D00 TToRT Weney v eTTe,
TPRE 8 TT08 () B Wz

(1) 04

(2) 05

3) 08

4) 025

T80T, $79,08009F 2,08 590D F08T h wg3hed
PRECHE TES BW0F R0 (BT, BRe0ATO[0T)
AB = D 308 word ©ow B[ZRI) BO0IRN
TPEFRRPIZEIRTT, ©F3 h SRy FRowmoNns ?

h B
o
l A
@ 2D
@) %D
3) %D
4 D

B FINT BePINTE 039 2,000 Tewd FOaN) ?
(1) 200 PRFEBOD IBASY)  NGH e:somdaail

TR0DT.
(2)  edogh PREBOID, ~pleb) PREBNOS
BRBOWTIT.

3
(4)

PR WO WG BOTODT, VRO,
TOW PREEIOD TOWE B3S03, wow B3R
@Saméeojamﬁd.

eotie 0o M a2y & R nisbd A - (uoda 3 Rrew),
B @ (200 3¢ Fgead o33 =023 C & (2080 FFeodd
QVOTT) 0w FIRT BINTE. wFNed 33 IS =3
Boed 2.03e FREVEOD BI 0 BRoQN TOYRIROET,
@@rﬁ@d&q @%‘éj@ 28 2o Pesorom oy (W) 33
BowOTR) BRI

(1) Wuo>Wg>Wp

(2) We>Wg>W,

3) Wg>W,>Wg,

(4) Wur>Wg>Wg,
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148. Unpolarised light is incident from air on a plane

149.

150.

surface of a material of refractive index ‘W. At a
particular angle of incidence 7, it is found that
the reflected

perpendicular to each other.

refracted rays are
Which of the

following options is correct for this situation ?

i= tan_1 (lJ
1)

Reflected light is polarised with its electric

and

(1

(2)

vector parallel to the plane of incidence

. . _1(1J
i=sin | =
u

Reflected light is polarised with its electric
the of

3

4)

vector perpendicular to plane

incidence

In Young’s double slit experiment the separation
d between the slits is 2 mm, the wavelength A of
the light used is 5896 A and distance D between
the screen and slits is 100 cm. It is found that the
angular width of the fringes is 0-20°. To increase
the fringe angular width to 0-21° (with same A
and D) the separation between the slits needs to

be changed to
(1)
(2)
3)
4)

1-7 mm
1-8 mm
21 mm

19 mm

An

large angular magnification and high angular

astronomical refracting telescope will have

resolution, when it has an objective lens of
(1)
(2)
(3)
(4)

small focal length and small diameter
small focal length and large diameter
large focal length and large diameter

large focal length and small diameter

148.

149.

150.

38,7RT BRY08 W QTVT 2,080 BB BRIV Hoe

Bed eI WEES) Y BREEOOT
FTOORRYRT. %oTd AOFH wwoe e 1 3Q, Bepd
R T eeBInR0B 33earieh 2.0TBROTD

©OWERNTZBIERTT, 83 BT FINT Cdrnas 03000
TOOIRAT

i= tan_1 (lj
U

Demoe weH FPodtmrieom ©ad e
3083 ©T8 Re9AE FRTVE FRREITTNGZ

. . _1(1J
i=sin | =
u

BIPOZ W I RRoE> @BT AWYTE
ROBR) STBRAVAT FRBUE ©0LmNTOZ

(D

(2)

3

(4)

ooN”  AFNO0R BOSRNTE, AFIMOORNS IBDT
@083 d 030 2 mm, WRT 3PS IFowoIT A I
5896 A =3 D =3 2eonoany S90S @R
100 cm ©33, 2,00 RY B0 @Ry 0:20° oD
Bo WO, oINS FReLeoD @ﬁ@dﬁa@ 0-21° R
TegRen (e h @082 D 3p00D) WEoHEE SnEess
eFonIoRNY 2080w

1) 1-'7mm
(2)
3)

(4)

1-8 mm
2:1 mm

19 mm

WO DRREY [ePTI TRTTIFTY éz%zg BeQe03d
THFR 3083 G023, BReRe0D BFTT BROTEO LT3 [T
SeEioielov)

(1)
(2)
(3)
(4)

335 Ronim> Bes HoFy 3as Ty
3as5 Ronih Bed W Be 3
i Aoriad 3R B3 BuR WA

TR Foria TR I 3aTH M
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151.

152.

153.

In the circuit shown in the figure, the input
voltage V; is 20 V, Vg = 0 and Vg = 0. The

1
values of Ig, I; and B are given by

20V

(D
(2)
3
4)

Ip =40 A,
Ip =40 A,
Ip =20 A,
Ip =25 A,

Io=5mA, p=125
I =10 mA, B =250
Io=5mA, =250

Io=5mA, =200

In a p-n junction diode, change in temperature
due to heating

o)

affects the overall V — I characteristics of
p-n junction

(2)
3
4)

affects only reverse resistance
does not affect resistance of p-n junction

affects only forward resistance

In the combination of the following gates the

output Y can be written in terms of inputs A and
B as

Ae I\

Be ( >c v
(1) A+B

(2) A.B

(3) .B+A.B

(4 A.B+A.B

151.

152.

153.

WSTY, BpeOATOTV  ARTWOBOTY, T Fpedeer
B A% 38R 391 DertHRod

1

IB =40 I.LA,

Ic=5mA, B=125

(2) Ig=40uA, Ig=10mA, =250

(3) Ig=20pA, Io=5mA, B=250

4) Ig=25pA, Io=5mA, f=200

p-n  WoFS RleeEn T Feerdynoosd
SUFFOD RO WHLIRBFOI0

(1) p-nwogeSV — I ogessss oed goeor
RO WS

802D TREGBRE, [T, TOFIRO GLORIBRTEIZT
P-n WOFT'R Bredd oedS TWOTed
PUOEDBRBORRE,

BT TREFTRE, [N, TOTERD PVOLIBREZT

(2)
3

4)

w%dri%mﬂcbd EReEHo0E, wWINT A W3 B ¥,
ans2Y ojaipqée 008 LBONWTITD

> v
>

Ae

B=r

(1) A+B
(2 A.B
3 A.B+A.B
4 A.B+A.B
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154. A carbon resistor of (47 + 4-7) kQ is to be marked

155.

156.

with of different for
identification. The colour code sequence will be

(1) Green — Orange — Violet — Gold
(2) Violet — Yellow — Orange — Silver
(3) Yellow — Green — Violet — Gold

(4) Yellow — Violet — Orange — Silver

rings colours its

A set of ‘n’ equal resistors, of value ‘R’ each, are
connected in series to a battery of emf ‘E’ and
internal resistance ‘R’. The current drawn is I
Now, the ‘n’ resistors are connected in parallel to
the same battery. Then the current drawn from
battery becomes 10 I. The value of ‘n’ is

(1 9
(2)
3
4)

A battery consists of a variable number ‘n’ of
identical cells (having internal resistance ‘r’
The
terminals of the battery are short-circuited and

each) which are connected in series.

the current I is measured. Which of the graphs
shows the correct relationship between I and n ?

w !

O —n

(@) —>n
I

3 T
(@) —n
I

4) T
0) —n

154. (47 £ 4'7) kQ T 2,000 50Fa® SRepsng, Wed wied

155.

156.

WINPT efoomdﬁeﬁal ©E3 38 FomOBBOTNTYTO
ROTIBIBRBRNT. 53T M oded 3330 83 IINT08T
(1) Badh - Fexd - e - Reee)

(2)  Be0¢ - TIO - FeRO - AT

(3) =YD - B - Y - Recy,

(4) BY0 - FeoY - Fexd - AT

‘n’ AR TTING 20T MI02TY, B&c3roms WS R’ snd
QRNII), wogosdeey R 3023 emf, E’ wds wodd
30630 ¥e3n Jerd wWeeBd [RRTIR TRT AW
By 1 =nd. =31 ‘n’ d@ezﬁrﬁ@d& 5 3ee33 ¥e3n
TR208T ReEE BRARGN TR BT Bz 10 1
BATCIRT3 ‘1’ I WSod0

v 9
(2) 10
(3) 20
4 11
FBomerom ‘n’ BofnY ARTHL ReINIR)y (TS

©0Z0TURT T TROOTN) TRODTN word WLLOSY,
Ferd  ERREBODY, FeOrT.  wykdod ORI
PUFIBRF W RATIRNG 0By DT BewmnS), |
20T BFERREING. 83 IR eRTOT 0dnm FFod 1
BT n IR BOCIRT BowoTHS), ER0RITTS

I

(1) T i
(@) —n
I—

@ !

w 1/

4)

(0] —>n
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157.

158.

159.

160.

Two wires are made of the same material and
have the same volume. The first wire has
cross-sectional area A and the second wire has
cross-sectional area 3A. If the length of the first
wire is increased by Al on applying a force F,
how much force is needed to stretch the second
wire by the same amount ?

(1 F

(2) 9F
(3) 4F
(4) 6F

A sample of 0-1 g of water at 100°C and normal
pressure (1-:013 x 10° Nm_z) requires 54 cal of
heat energy to convert to steam at 100°C. If the
volume of the steam produced is 1671 cc, the
change in internal energy of the sample, is

(1) 845J

(2) 104-3J

3) 42:2J

(4) 2087J

A small sphere of radius ‘v’ falls from rest in a
viscous liquid. As a result, heat is produced due
to viscous force. The rate of production of heat

when the sphere attains its terminal velocity, is
proportional to

1
@2 1
3 1
4 1

The power radiated by a black body is P and it
radiates maximum energy at wavelength, A,. If
the temperature of the black body is now
changed so that it radiates maximum energy at
wavelength %7‘0’ the power radiated by it
becomes nP. The value of n is

81

(D 256

2 -
3

4) -

157.

158.

159.

160.

2,08 TRATOT BY 20T FRIVIOT  WRBLSTET
TR BodNIE. BRBOTE 080D BELIeT DY A [0
NTBEZCD 2080 @& Fed Rer A ©nd. wo F
WTO[RR BRTVOT FodoD HUTE[ Al SR, TWRTT,
DTS BoS0R) ¥ & BT TuHeo WeFondss

we)ﬁa’ow
(1) F
(2) 9F
3) 4F
4) 6F

100°C @02y m=%s, 838  (1:013 x 10° Nm™2)
958 0-1 g & 2,080 BP0 2edd, 100°C T ommN
BOS[SFIIRNLY 54 RERD TP Wesnos.
PUTOAT WRE ™8, 1671 cc sTT, R0 wida
30808 3§ 030

(1) 8454J

(2) 104:3J

3) 42:24J

(4) 2087d

T SROTT 2o WY AV 3T JGOWT AR, BRI,
WeDTF. BTO TOWD  ANWODOTON T
QUBGOIRTOZT. ARV o8> Bens) Tdwen wwzehE

003 T3z T8N omd)cﬁéﬁ 930508 C03TONTS

@
@2 1
3
4) 12

2,000 3 TOD) BTorwoET k) I, WRFT P 202
o, daobr DTERRORT. S g 3domodtae, Rog
X 4 o
TR, DITEMRTILY BN TP, FoODT  QUFIODTY
WBEORTT, DITENRRIRT TG FR nP oIRGS, n 3

thlleveb)

81
256
3
2 —
(2) 1
256
81

4) 2
3

(1)

3
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161.

162.

163.

164.

An electron falls from rest through a vertical
distance h in a uniform and vertically upward
directed electric field E. The direction of electric
field is now reversed, keeping its magnitude the
same. A proton is allowed to fall from rest in it
through the same vertical distance h. The time of
fall of the electron, in comparison to the time of
fall of the proton is

(D
(2)
3
4)

equal
smaller
10 times greater

5 times greater

A pendulum is hung from the roof of a
sufficiently high building and is moving freely to
and fro like a simple harmonic oscillator. The
acceleration of the bob of the pendulum is
20 m/s? at a distance of 5 m from the mean
position. The time period of oscillation is

(1) 1s
(2)
(3)
(4)

2n's
2s

mSs

A tuning fork is used to produce resonance in a
glass tube. The length of the air column in this
tube can be adjusted by a variable piston. At
room temperature of 27°C two successive
resonances are produced at 20 cm and 73 cm of
column length. If the frequency of the tuning fork
is 320 Hz, the velocity of sound in air at 27°C is

(1) 300 m/s
(2) 330 m/s
(3) 350 m/s
(4) 339 m/s

The electrostatic force between the metal plates
of an isolated parallel plate capacitor C having a
charge Q and area A, is

(1) inversely proportional to the distance

between the plates.

(2)

independent of the distance between the
plates.

3

proportional to the square root of the
distance between the plates.

(4) the distance

linearly proportional to
between the plates.

161.

162.

163.

164.

RTZODYT 0o BCE, h I, LowrERTE womd
BTRB F0By wow Boeed 3T AIEF g E 39,
WDTB. BN AT YW TOBRITT) ATTONOR,
QER) DTGV, ATIONGT 2,08 Fpeea's) @3 h
SR, vow BRCE Weder WRRRRBERNGS.  TpeLRD
WEPONE TITORON TRCDF BTN Q@%@wa@ WEFONT
TR

(1) =

(2) sa

(3) 10 e T3y,

(4) 5 @e3, T,

2,000 ERCVBTBR) TOBRY, HFTNTIT FLRET 1WFHN e
TOFORNT 302 T FBog,zwoN ITY Fong worinedssod
R008 3B &0T WORTE TN WG, WIDT 5 m

BR0RE, et Mors SraERrs 20 m/s? SN,
03T BOTRLOTT FoO LBHOIN

(1) 1s

(2) 2ms

3 2s

4) ms

BT SYFONQ, [0S GVOLDI/REELD  woTD B

R0, GVTOIRENTS. 20T FFOWINIET JT'F, WIA
I level ) M9F0T BRI, BRoTLSE
BRBWTOTNS. §esR vxEE 27°C 39 20 cm [
73 cm R;;ozp’ NBNRYY, 2.0538T0LT 2,080 @&édwﬁﬁ%ﬁd&
QUOLDTRBRNG. F& sHoD @3¢ 320 Hz <3,
27°C 8 mvadd Zuwad &en

(1) 300 m/s

(2) 330 m/s

(3) 350 m/s
(4) 339 m/s

063 Q W VReIE A BTVW 2,030 WOk Tm03T
7908 C 3 dpemd FOsnY SBODT 0 IWT WY

(1) PBRY RN BRTE DRI

(2)  FoBRY IROIT BRTOOT BoZNG.

(3)  FoBnY IR TBRTE JFRWE,
3303 0DTINT.

(4)  Sedsn FosHY SBORT BRTE LROTEODHNGS.
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165.

166.

167.

168.

When the light of frequency 2v, (where v, is
threshold frequency), is incident on a metal
plate, the maximum velocity of electrons emitted
is v;. When the frequency of the incident
radiation is increased to 5v,, the maximum
velocity of electrons emitted from the same plate
is vo. The ratio of v; to vy is

1 2:1
(2)
3)
4)

[ NG
NN

For a half-life is
10 minutes. If initially there are 600 number of

radioactive  material,

nuclei, the time taken (in minutes) for the
disintegration of 450 nuclei is

(1) 15
(2) 20
3) 30
(4) 10

The ratio of kinetic energy to the total energy of
an electron in a Bohr orbit of the hydrogen atom,
is

(1 1:-2
(2 1:1

3 2:-1
4) 1:-1

An electron of mass m with an initial velocity
;;:Voli\ (Vo > 0) enters an electric field
E = - EO/i\ (Eg = constant > 0) at t = 0. If A is
its de-Broglie wavelength initially, then its

de-Broglie wavelength at time t is

1) X

-

Aot

Ao

(2)
eEO t
mVO J

3

4)

ceE 0 ¢
mVO

)\.0 (14—

165.

166.

167.

168.

2,00 REE PUBE Foed 2V, FFIoD (AQ, V) Teyw
©33) IR SwwE RRYATNN, TRTRPE VACHENRY
nowy Remy v; SWT @B SIIReYRE  WYES
SFBORY, vy BWER, ¥ PUFHT FeT BRI
QEERAY MOF Beny vy STT vy B Vg SRR
LBOTOBR)

(1)
(2)
3

4)
2,000 BeRC3ReN8Ted TN Sinptevein)

10 QFATNT) TToPRY, 600 Tosd, [RFEDF
neTy, 450 SRIOPT T DFpud egden 3 drdys
O (AORATY)

(1)
(2)
3 30

(4) 10
WRTT BOWST BORPED BFODQ, 1omd DETIFI 37

B8 23) 1303 B§0D BT BRI

01

=R =N

12
01
14

15
20

1 1:-2
(2 1:1

3 2:-1
4 1:-1

%
m Sescig e TIows Fed V= Vi (Vg > 0)
%

2R 1w wdREF  OdF §8 E = — Bl
(Eq = 35908 > 0) I 30 t = 0 TBedTT, T,0053Y,
Lo B3 B-wRN IToroITTIT, O t I, V@I
&-2397) 38omwo3TR)
1 A

Ao

1+ cEo t
mVO

Aot

(2)

3

eEO t
mVO

@) A (1 +
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169.

170.

171.

172,

A solid sphere is in rolling motion. In rolling
motion a body possesses translational Kkinetic
energy (K;) as well as rotational kinetic energy

(K,) simultaneously. The ratio K, : (K; + K,) for
the sphere is

(1) 2:5

(2) 7:10

3) 10:7

4) 5:7

If the mass of the Sun were ten times smaller
and the universal gravitational constant were

ten times larger in magnitude, which of the
following is not correct ?

(1)
(2)
(3)

‘g’ on the Earth will not change.
Raindrops will fall faster.

Time period of a simple pendulum on the
Earth would decrease.

4)

Walking on the ground would become more
difficult.

A solid sphere is rotating freely about its
symmetry axis in free space. The radius of the
sphere is increased keeping its mass same.
Which of the following physical quantities would
remain constant for the sphere ?

(D
(2)
3
(4)

Angular momentum
Angular velocity
Rotational kinetic energy

Moment of inertia

The kinetic energies of a planet in an elliptical
orbit about the Sun, at positions A, B and C are
Ky, Kp and K, respectively. AC is the major
axis and SB is perpendicular to AC at the
position of the Sun S as shown in the figure.
Then

(D
(2)
(3
4)

Kg > Ky > K¢
Ky <Kp <K
Kg <Kj) <K
Kj > Kg > K¢

169.

170.

171.

172,

2O PSS NROY vl  BodohB.  eudded
BOICDY, 2,080 TOD) VFFOT AWTHoL0E BUITY (K,)
eEgosobe $omaE W¥essy (K,) SEeinghanad,
Reeog Ky 1 (K; + K,) @omdmesy

1)
(2)

2:5

7:10

3 10:7

4) 5:7

BORPDTY, BRODFS Todcd0 10 Bedd 3RE0IRNOIR
R BT mdozi%moﬁ@ 10 &3 BeRBT, 3 IENS
03T BOATRNE),

(1) P00 BT ‘g WRLRTBHBOINMORDY,

(2) o BIND demon eI,
(3) weoood Hed TIRF, SReTT DDDRRE
VYFCIRNOTT.

(4) BB Boed IBOI0TT Ted), TRFTHOMOIT.
QPFBTY, woRd PI RrewR AZogemoN T AN T3
Boed STOTDET. wTO  T2BONTY  JTINOK, RLT
\-%)uéqu HOF IBTIN, rirae@éﬂ B3 BPNT 0T BT
BORPEY) }TemNODE BTIT

(1)
(2)

3603 Foden

Bpeecdd Jen

(3) &ToroBod WSSy

(4) =@ DI,

RRONFS AZ DEPF Z FFONYTOT RBT BOT BTN
gwomen A, B 3083 C msndd Ky, Kp 3023 K¢ &nss.
AC o3 03 @gmenm), wEBY S Zredadimed SB
30 AC 7 ©02mNTB3RNTT

o))
(2)
3
4)

Kg > Kj > K
Ky <Kg <Kg
Kg <Ky <K
Kj > Kg > K¢
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173.

174.

175.

176.

The refractive index of the material of a prism is
V2 and the angle of the prism is 30°. One of the
two refracting surfaces of the prism is made a
mirror inwards, by silver coating. A beam of
monochromatic light entering the prism from the
other face will retrace its path (after reflection
from the silvered surface) if its angle of incidence
on the prism is

(1
(2)
(3)
(4)

Zero
60°
30°
45°

The magnetic potential energy stored in a certain
inductor is 25 md, when the current in the
inductor is 60 mA. This inductor is of inductance
(1) 1389 H

(2) 0138H

(3) 1-389H

(4) 13888 H

An object is placed at a distance of 40 cm from a
concave mirror of focal length 15 cm. If the object
is displaced through a distance of 20 cm towards
the mirror, the displacement of the image will be

(1)
(2)
3
(4)

36 cm towards the mirror
30 cm away from the mirror
30 cm towards the mirror

36 cm away from the mirror

An em wave is propagating in a medium with a
velocity ?f = V/i\ . The instantaneous oscillating
electric field of this em wave is along +y axis.
Then the direction of oscillating magnetic field of
the em wave will be along

(1)
(2)
(3)
(4)

— x direction
— z direction
—y direction

+ z direction

173.

174.

175.

176.

Te3¥ TROT BT Rew08 V2RI Bupa B
30° 8T, AT Q0T ST BREBOVTOOT @’é;?d
SyeIRs e YY) 10Ty WIS BT LN,
DB BRI e WoT  TEEIer o ITFY
BFE BoRwT FFedr [F @8 TFTY, 20QTOMTS.
(A0p* RRPAE Roed Qo8 BEFOS FweodT Fo23)
8083 Te3BT R0eHT ST B

(1) =3

5
(2)
(3) 30°

(4) 45°
60 MA IWT TTII, word ANFH FeSTRY,

mORTENR 25 md  woecd PSS TIodw
SeFCBAIRMIZTOINTT 5eTFE 508330320

60°

13-89 H
0-138 H
1-389 H
138-88 H

(1)
(2)
(3)
4)
15 cm FonedBRTITON 8080 AR THFp00s 40 cm
BRTE, Lot FRRIPING. i Fed I
GRFes @R 20 cm TRT IP0BOATRN  TEWOWT
308053 |

DRFET BAENR 36 cm RPN
DRFe003 30 cm mdﬁé
TBFeT IER 30 cm NYINT
THFea00s 36 cm BRTE

1)
2)
6))
4)
- A
wotd  @ERTY Vo= Vi Zendd  eomd
DT,TT080 98030 T TOTTMIGT. 33
DTFTT080H  WIOD  FHTYZ  $0BRIZ  ATFT
B3R +y @BD RURFDINGCOINTT, é)d%@s@oéeoja
oD FRBYT $0tiRedE 5208 g IR HERYTITS

(D)
(2)
3
(4)

- x Q339
-z @iﬁ@m
-y @%ﬁ@l
+2 D3TY,
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177.

178.

179.

180.

A block of mass m is placed on a smooth inclined
wedge ABC of inclination 6 as shown in the
figure. The wedge is given an acceleration ‘a’
towards the right. The relation between a and 0
for the block to remain stationary on the wedge
is

A
2
a
0
C B
(1) a=gtan®
(2) a= g
cosec 0
(83) a=gcosH
g
4 =
@ =309

A student measured the diameter of a small steel
ball wusing a screw gauge of least count
0-001 cm. The main scale reading is 5 mm and
zero of circular scale division coincides with
25 divisions above the reference level. If screw
gauge has a zero error of — 0-004 cm, the correct
diameter of the ball is

(1) 0529 cm

(2) 0521 cm

(3) 0053 cm

(4) 0525 cm N R N R
The moment of the force, F =41 +5j — 6k at
(2, 0, — 3), about the point (2, — 2, — 2), is given by

A A A
(1) -7i-4j -8k
A A A
2 -8i-4j -7k
A A A
(3 —7i-87 -4k
A A A
4 -4i-j -8k

A toy car with charge q moves on a frictionless
horizontal plane surfacg) under the influence oga
uniform electric field E . Due to the force q E,
its velocity increases from 0 to 6 m/s in one
second duration. At that instant the direction of
the field is reversed. The car continues to move
for two more seconds under the influence of this
field. The average velocity and the average speed
of the toy car between 0 to 3 seconds are
respectively

177.

178.

179.

180.

BB, BR[0T, M TSI, Lot DR, D
BRET 0 DTOB 20T VTP WIBW ABC 0eD033.
wdgen weg ‘a’ deﬁmég—ird@ REBSRNT. DA
WTBOT F3oees ?&dmﬂém’w a WY 6 IBOT RoW0TR)

A
2
a
0
C B
(1) a=gtan©
2 a=_°2
cosec 0
(3) a=gcosH
g
4 =
@ a sin O

0-001 cm 5?03’% NEAS000TO 20T R’f\f%o rfees” e 2y,
DTUBFOID WOW REY AT WS T mﬁﬁﬁg{
IZRRRTS. Fy ﬂdwfs BRBS 5 mm &3 FoDd
3OS Be3 Roodd wvdeds Sows Bed 25 RoR
RoQRIZT. AR, rfees’S 2 BreRy — 0:004 cm STT,
WTT BOIRT YD)
(1) 0-529 cm
(2) 0521 cm
(3) 0053 cm
(4) 0525 cm

—> A A A
won @@, F =41 +5j -6k, (2,0,-3) 3
2o (2, —2, — 2) I Foed ﬁmidodoé,

A A A
(1) -7i-4j -8k
A A A
(2) -8i-4j -7k
A A A
(3 -7i-8j -4k
A A A
4 -4i-j -8k

ATRT DT80S Feg E BRROOT @He3 q B,
0T B383T @da_gfairmdéoé 3ew ABor doed
FoeeS BORTT. q B wodomen ems @en wod Fedom®
FORRHONE, 0 0200t 6 m/s 7§ DOFCINMITT. & BramE)
3030 80, ATITEITT. B FEBT TLRBOOTN 5T VBR,
Q0B FBow RS wo B¥ODIT. 0 DIy 3 Fedorny
BT FOT°S FTIRO Ten B FTIRO W)

(1) 1-5m/s, 3m/s (1) 1-5m/s, 3m/s
@) 2ms, 4m/s @) 2m/s, 4ms
(3) 1m/s, 3-5m/s (3) 1m/s, 3-5m/s
(4) 1m/s, 3m/s (4) 1m/s, 3m/s
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Read carefully the following instructions :

1. Each candidate must show on demand his/her
Admit Card to the Invigilator.

2. No candidate, without special permission of
the Superintendent or Invigilator, would
leave his/her seat.

3. The candidates should not leave the
Examination Hall without handing over their
Answer Sheet to the Invigilator on duty and
sign the Attendance Sheet twice. Cases
where a candidate has not signed the
Attendance Sheet second time will be
deemed not to have handed over the
Answer Sheet and dealt with as an
unfair means case.

4. Use of Electronic/Manual Calculator is
prohibited.

5. The candidates are governed by all Rules and
Regulations of the examination with regard to
their conduct in the Examination Hall. All
cases of unfair means will be dealt with as per
Rules and Regulations of this examination.

6. No part of the Test Booklet and Answer Sheet
shall be detached under any circumstances.

7. The candidates will write the Correct Test
Booklet Code as given in the Test
Booklet/Answer Sheet in the Attendance
Sheet.
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